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CIRCLES

Illustration

1. Find the equation of a circle whose centre is (2,-3) and radius 5.

A. 

B. 

C. 

D. none of these

Answer: B

W t h Vid S l ti

x2 + y2 + 4x − 6y − 12 = 0

x2y2 − 4x + 6y − 12 = 0

x2 + y2 − 6x + 4y − 12 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_WJct3F22vpTe


Watch Video Solution

2. The radius of the circle passing through the point (6, 2), two of whose

diameters are  and  is

A. 10

B. 

C. 6

D. 4

Answer: B

Watch Video Solution

x + y = 6 x + 2y = 4

2√5

3. The equation of a circle with origin as centre and passing through the

vertices of an equilateral triangle whose median is of length 3 a is

A. x2 + y2 = 9a2

https://dl.doubtnut.com/l/_WJct3F22vpTe
https://dl.doubtnut.com/l/_0Rvo35uty0XQ
https://dl.doubtnut.com/l/_Tc275SgVCmMV


B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 16a2

x2 + y2 = 4a2

x2 + y2 = a2

4. The lines  and  are diameters of a circle

of area  sq. units, then the equation of the circle is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x − 3y − 5 = 0 3x − 4y = 7

154( = 49π)

x2 + y2 + 2x − 2y − 62 = 0

x2 + y2 + 2x − 2y − 47 = 0

x2 + y2 − 2x + 2y − 47 = 0

x2 + y2 − 2x + 2y − 62 = 0

https://dl.doubtnut.com/l/_Tc275SgVCmMV
https://dl.doubtnut.com/l/_xkJfRqm3lmFb


5. If the lines  and  lie along diameters of

a circle of circumference , then the equation of the circle is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x + 3y + 1 = 0 3x − y − 4 = 0

10π

x2 + y2 + 2x − 2y − 23 = 0

x2 + y2 − 2x − 2y − 23 = 0

x2 + y2 + 2x + 2y − 23 = 0

x2 + y2 − 2x + 2y − 23 = 0

6. If a circle has two of its diameters along the lines  and 

 and has area  , then the equation of the circle is

A. 

B. 

x + y = 5

x − y = 1 9π

x2 + y2 − 6x − 4y + 4 = 0

x2 + y2 − 6x − 4y − 3 = 0

https://dl.doubtnut.com/l/_xkJfRqm3lmFb
https://dl.doubtnut.com/l/_uODFP5nuSTIZ
https://dl.doubtnut.com/l/_Om8jP9Uul7bl


C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 6x − 4y − 4 = 0

x2 + y2 − 6x − 4y + 3 = 0

7. The equation of the circle passing through (4, 5) having the centre (2,

2), is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 4x + 4y − 5 = 0

x2 + y2 − 4x − 4y − 5 = 0

x2 + y2 − 4x = 13

x2 + y2 − 4x − 4y + 5 = 0

https://dl.doubtnut.com/l/_Om8jP9Uul7bl
https://dl.doubtnut.com/l/_IwIVN182rWcv
https://dl.doubtnut.com/l/_8NpCqwVjd5dI


8. The centre of circle inscribed in a square formed by lines


is

A. (4, 7)

B. (7, 4)

C. (9, 4)

D. (4, 9)

Answer: A

Watch Video Solution

x2 − 8x + 12 = 0 and y2 − 14y + 45 = 0

9. If the centroid of an equilateral triangle is (2, -2) and its one vertex is (-1,

1) , then the equation of its circumcircle is

A. 

B. 

C. 

x2 + y2 − 4x + 4y − 10 = 0

x2 + y2 + 4x − 4y + 10 = 0

x2 + y2 + 4x − 4y − 10 = 0

https://dl.doubtnut.com/l/_8NpCqwVjd5dI
https://dl.doubtnut.com/l/_9l8YxnDmrlvq


D. 

Answer: A

Watch Video Solution

x2 + y2 + 4x + 4y + 10 = 0

10. I If a point  lies on the circle  then the locus of the

point  is

A. a straight line

B. an ellipse

C. a parabola

D. none of these

Answer: B

Watch Video Solution

(α, β) x2 + y2 = 1

(3α. + 2, β),

https://dl.doubtnut.com/l/_9l8YxnDmrlvq
https://dl.doubtnut.com/l/_qrXAiEFY5cIh


11. The equations of the circle which touches the axis of y at the origin

and passes through (3, 4) , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2(x2 + y2) − 3x = 0

3(x2 + y2) − 25x = 0

4(x2 + y2) − 25x = 0

4(x2 + y2) − 25x + 10 = 0

12. The equation of the circle of radius 5 and touching the coordinates

axes in third quadrant, is

A. 

B. 

C. 

(x − 5)2 + (y + 5)2 = 25

(x + 4)2 + (y + 4)2 = 25

(x + 6)2 + (y + 6)2 = 25

https://dl.doubtnut.com/l/_DAEbhpjgdz7F
https://dl.doubtnut.com/l/_pEaRZvKaDwvX


D. 

Answer: D

Watch Video Solution

(x + 5)2 + (y + 5)2 = 25

13. A circle of radius  units touches the co ordinate axes in the first

quadrant. If the circle makes a complete rotation on the x-axis along the

positive direction of the x-axis, then the equation of the circle in the new

position is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

2

x2 + y2 − 4(x + y) − 8πx + (4π + 1)2 = 0

x2 + y2 − 4x − 4y + (4π + 2)2 = 0

x2 + y2 − 8πx − 4y + (4π + 2)2 = 0

https://dl.doubtnut.com/l/_pEaRZvKaDwvX
https://dl.doubtnut.com/l/_XOK4twbUoOTq


14. Equation of a circle which passes through (3,6) and touches the axes is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 + 6x + 6y + 3 = 0

x2 + y2 − 6x − 6y − 9 = 0

x2 + y2 − 6x − 6y + 9 = 0

15. The equations of the circles which touch both the axes and the line x =

a are

A. 

B. 

C. 

D. none of these

x2 + y2 ± ax ± ay + = 0
a2

4

x2 + y2 + ax ± ay + = 0
a2

4

x2 + y2 − ax ± ay + = 0
a2

4

https://dl.doubtnut.com/l/_FqEx6aciN7O1
https://dl.doubtnut.com/l/_RS5QzqB2kX0C


Answer: C

Watch Video Solution

16. A circle of radius 6 units touches the coordinates axes in the first

quadrant. Find the equation of its image in the line mirror 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = 0.

x2 + y2 − 12x + 12y + 36 = 0

x2 + y2 − 12x − 12y + 36 = 0

x2 + y2 + 12x − 12y + 36 = 0

x2 + y2 + 12x + 12y + 36 = 0

17. The locus of the centre of the circles which touches both the axes is

given by

https://dl.doubtnut.com/l/_RS5QzqB2kX0C
https://dl.doubtnut.com/l/_7DCfZl6rYXnE
https://dl.doubtnut.com/l/_XGLv3NR5rAPM


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − y2 = 0

x2 + y2 = 0

x2 − y2 = 1

x2 + y2 = 1

18. Find the equation of the image of the circle


in the line mirror 

A. 

B. 

C. 

D. 

Answer: A

x2 + y2 + 8x − 16y + 64 = 0 x = 0.

x2 + y2 − 8x − 16y + 64 = 0

x2 + y2 − 8x + 16y + 64 = 0

x2 + y2 + 8x + 16y + 64 = 0

x2 + y2 + 8x − 16y + 64 = 0

https://dl.doubtnut.com/l/_XGLv3NR5rAPM
https://dl.doubtnut.com/l/_mqn0iuZQGimS


Watch Video Solution

19. The equation of the image of the circle

 by the line mirror  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 16x − 24y + 183 = 0 4x + 7y + 13 = 0

(x + 16)2 + (y + 2)2 = 52

(x − 16)2 + (y − 2)2 = 52

(x + 16)2 + (y − 2)2 = 52

(x + 16)2 + (y + 2)2 = 52

20. If an equilateral triangle is inscribed in the circle , the

length of its each side is

A. 

x2 + y2 = a2

√2a

https://dl.doubtnut.com/l/_mqn0iuZQGimS
https://dl.doubtnut.com/l/_yZYFYB9zXwvR
https://dl.doubtnut.com/l/_QH1T7Y1sNHd7


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

a
√3

2

√3a

21. If , then the equation  will

represent

A. a circle of radius g

B. a circle of radius f

C. a circle of diameter 

D. a circle of radius 0

Answer: D

Watch Video Solution

g2 + f 2 = c x2 + y2 + 2gx + 2fy + c = 0

√c

https://dl.doubtnut.com/l/_QH1T7Y1sNHd7
https://dl.doubtnut.com/l/_2augfpk4ugAy


22. The equation 

 will

represent a circle, if 

A. 1

B. 4

C. 2

D. none of these

Answer: A

Watch Video Solution

λ2x2 + (λ2 − 5λ + 4)xy + (3λ − 2)y2 − 8x + 12y − 4 = 0

λ =

23. The coordinates of the centre and radius of the circle represented by

the equation 

 are(3 − 2λ)x2 + λy2 − 4x + 2y − 4 = 0

https://dl.doubtnut.com/l/_2augfpk4ugAy
https://dl.doubtnut.com/l/_bzt44KLmRI4D
https://dl.doubtnut.com/l/_53yXYZ124rqC


A. (2, 1), 3

B. (-2, 1), 3

C. (2, 1), 3

D. (2, -1), 1

Answer: C

Watch Video Solution

24. If  is the

equation of a circle, then its radius is

A. 1

B. 3

C. 

D. none of these

Answer: B

3x2 + 2λxy + 3y2 + (6 − λ)x + (2λ − 6)y − 21 = 0

2√2

https://dl.doubtnut.com/l/_53yXYZ124rqC
https://dl.doubtnut.com/l/_x4VmOemRQDyu


Watch Video Solution

25. If the area of the circle  is  square

units, then the value of k is

A. 4

B. 16

C. -16

D. none of these

Answer: C

Watch Video Solution

4x2 + 4y2 − 8x + 16y + k = 0 9π

26. The
 point diametrically opposite to the point P (1, 0) on the circle


is

A. (-3, -4)

x2 + y2 + 2x + 4y − 3 = 0

https://dl.doubtnut.com/l/_x4VmOemRQDyu
https://dl.doubtnut.com/l/_ORu0DtF5v7kT
https://dl.doubtnut.com/l/_OvnAuxeMnReQ


B. (3, 4)

C. (3, -4)

D. (-3, 4)

Answer: A

Watch Video Solution

27. The straight line
 
 cuts the coordinate axes at 
 and 
 .

Find the equation of the circle passing through `O(0,0), A and B .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x

a

y

b
A B

x2 + y2 − ax − by = 0

x2 + y2 − 2ax − 2by = 0

x2 + y2 + ax + by = 0

x2 + y2 = a2 + b2

https://dl.doubtnut.com/l/_OvnAuxeMnReQ
https://dl.doubtnut.com/l/_Ev4ewKz7yvW7


28. If the points  and  are concyclic, then  is

equal to

A. -1

B. 1

C. 2

D. -2

Answer: B

Watch Video Solution

(0, 0), (1, 0), (0, 1) (t, t) t

29. Find the equation of the circle passing through 
and

having the smallest possible radius.

A. 

B. 

(1, 0) and (0, 1)

x2 + y2 + x + y − 2 = 0

x2 + y2 = x + y

https://dl.doubtnut.com/l/_Ev4ewKz7yvW7
https://dl.doubtnut.com/l/_eW8kxKMrJhXz
https://dl.doubtnut.com/l/_KXMuiVmvrfzV


C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 1

30. The  represents a circle

whose centre is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x − x1)(x − x2) + (y − y1)(y − y2 = 0

( , )
x1 − x2

2

y1 − y2

2

( , )
x1 + x2

2

y1 + y2

2

(x1, y2)

(x2, y2)

https://dl.doubtnut.com/l/_KXMuiVmvrfzV
https://dl.doubtnut.com/l/_pf1xkIvCUs3G
https://dl.doubtnut.com/l/_FNS4MBNQAUdz


31. The circle described on the line joining the points  as

diameter cuts the x-axis in points whose abscissae are roots of the

equation

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, 1), (a, b)

x2 + ax + b = 0

x2 − ax + b = 0

x2 + ax − b = 0

x2 − ax − b = 0

32. If the abscissa and ordinates of two points 
are the roots of

the equations 
 and 
 , respectively,

then find the equation of the circle with 
as diameter.

A. 

P and Q

x2 + 2ax − b2 = 0 x2 + 2px − q2 = 0

PQ

x2 + y2 + 2ax + 2py − b2 − q2 = 0

https://dl.doubtnut.com/l/_FNS4MBNQAUdz
https://dl.doubtnut.com/l/_ZBGNIDLQcWL3


B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2ax − 2py + b2 + q2 = 0

x2 + y2 − 2ax − 2py − b2 − q2 = 0

x2 + y2 + 2ax + 2py + b2 + q2 = 0

33. If one end of the diameter is (1, 1) and the other end lies on the line


, then find the locus of the center of the circle.

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x + y = 3

x + y = 1

2(x − y) = 5

2x + 2y = 5

https://dl.doubtnut.com/l/_ZBGNIDLQcWL3
https://dl.doubtnut.com/l/_RcFVwsCghw58


34. Two rods of lengths  and  slide along the -axis and -axis

respectively in such a manner that their ends are concyclic. The locus of

the centre of the circle passing through the end points is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a b x y

4(x2 + y2) = a2 + b2

4(x2 − y2) = a2 − b2

x2 − y2 = a2 − b2

x2 − y2 = 4(a2 − b2)

35. A circle touches a given straight line and cuts off a constant length 2d

from another straight line perpendicular to the first straight line. The

locus of the centre of the circle, is

https://dl.doubtnut.com/l/_RcFVwsCghw58
https://dl.doubtnut.com/l/_EvHaXzOmAsYO
https://dl.doubtnut.com/l/_YmDtTuNtTtqh


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y2 − x2 = d2

x2 + y2 = d2

xy = d2

36. Circle(s) touching x-axis at a distance 3 from the origin and having an

intercept of length  on y-axis is (are)

A. 

B. 

C. 

D. 

Answer: A

2√7

x2 + y2 − 6x ± 8y + 9 = 0

x2 + y2 − 6x ± 7y + 9 = 0

x2 + y2 + 6x ± 8y + 9 = 0

x2 + y2 − 8x ± 6y + 9 = 0

https://dl.doubtnut.com/l/_YmDtTuNtTtqh
https://dl.doubtnut.com/l/_QaKKzvMxANEp


Watch Video Solution

37. If the points  lies inside the circle

, then find the range of .

A. (-1, 4)

B. 

C. 

D. [-1, 4]

Answer: A

Watch Video Solution

(λ, − λ)

x2 + y2 − 4x + 2y − 8 = 0 λ

( − ∞, − 1)

(4, ∞)

38. The set of values of 'a' for which the point (a-1, a+1) lies outside the

circle  and inside the circle ,

is

x2 + y2 = 8 x2 + y2 − 12x + 12y − 62 = 0

https://dl.doubtnut.com/l/_QaKKzvMxANEp
https://dl.doubtnut.com/l/_nQ5T3wcjuaca
https://dl.doubtnut.com/l/_btTmeX2ALOUy


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

( − ∞, − √3) ∪ (√3, ∞)

( − 3√2, 3√2)

( − 3√2, − √3) ∪ (√3, 3√2)

39. If (2, 4) is a point interior to the circle 

and the circle does not cut the axes at any point, then

A. 

B. 

C. 

D. none of these

Answer: A

x2 + y2 − 6x − 10y + λ = 0

λ ∈ (25, 32)

λ ∈ (9, 32)

λ ∈ (32, ∞)

https://dl.doubtnut.com/l/_btTmeX2ALOUy
https://dl.doubtnut.com/l/_84a0HRnJ52QQ


Watch Video Solution

40. The set of values of a for which the point  is an interior

point of the larger segment of the circle 

made by the chord , is

A. (-1,9/5)

B. (0, 9/5)

C. 

D. none of these

Answer: B

Watch Video Solution

(2a, a + 1)

x2 + y2 − 2x − 2y − 8 = 0

x − y + 1 = 0

(0, ∞)

41. The straight line 2x-3y = 1 divides the circular region  into

two parts. If S = { }, then the

number of point(s) in S lying inside the smaller part is

x2 + y2 ≤ 6

(2, ), ( , ), ( , − ), ( , )
3

4

5

2

3

4

1

4

1

4

1

8

1

4

https://dl.doubtnut.com/l/_84a0HRnJ52QQ
https://dl.doubtnut.com/l/_6qek9nVXhS3n
https://dl.doubtnut.com/l/_TUlh2YsXLq5w


A. 2

B. 3

C. 4

D. 5

Answer: A

Watch Video Solution

42.  are parametric angles of three points P, Q and R

respectively, on the circle  and A is the point (-1, 0). If the

lengths of the chords AP, AQ and AR are in GP, then

 are in

A. AP

B. GP

C. HP

D. none of these

α, β and γ

x2 + y2 = 1

, and
cosα

2

cos β

2

cos γ

2

https://dl.doubtnut.com/l/_TUlh2YsXLq5w
https://dl.doubtnut.com/l/_6CoCP4jzah3L


Answer: B

Watch Video Solution

43. The centre of the circle , is

A. (3, 3)

B. (2, -1)

C. (-2, 1)

D. (-1, 2)

Answer: B

Watch Video Solution

x = 2 + 3 cos θ, y = 3 sin θ − 1

44. A line is drawn through a fix point P( ) to cut the circle 

 at A and B. Then PA.PB is equal to :

α, β

x2 + y2 = r2

https://dl.doubtnut.com/l/_6CoCP4jzah3L
https://dl.doubtnut.com/l/_LJWwW5izqG7W
https://dl.doubtnut.com/l/_d4HcOT7h4ehG


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α2 + β2

α2 + β2 − a2

a2

α2 + β2 + a2

45. If the line  cuts the circle  at two real

and distinct points then

A. 

B. 

C. 

D. 

Answer: D

y = mx − (m − 1) x2 + y2 = 4

m ∈ (1, 2)

m = 1

m = 2

m ∈ R

https://dl.doubtnut.com/l/_d4HcOT7h4ehG
https://dl.doubtnut.com/l/_RCT4qJS7MWbq


Watch Video Solution

46. If the line  does not intersect the circle 

 then

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y = mx

(x + 10)2 + (y + 10)2 = 180,

m ∈ ( − 2, ∞)

m ∈ ( − ∞, − 1/2)

m ∈ ( − 2, − 1/2)

47. Find the range of values of 
for which the line 
cuts the

circle 
at distinct or coincident points.

A. 

m y = mx + 2

x2 + y2 = 1

( − ∞, − √3] ∪ [√3, ∞)

https://dl.doubtnut.com/l/_RCT4qJS7MWbq
https://dl.doubtnut.com/l/_SQ5SSS3BDLEg
https://dl.doubtnut.com/l/_3l4Rx5odDHHM


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

[ − √3, √3]

[√3, ∞)

48. The circle 
intersects the line 
at

two distinct points if

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 = 4x + 8y + 5 3x − 4y = m

15 < m < 65

35 < m < 85

−85 < m < − 35

−35 < m < 15

https://dl.doubtnut.com/l/_3l4Rx5odDHHM
https://dl.doubtnut.com/l/_nojnBcdLxv7A


49. The line  meets the circle  at only one

point, if 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x − 2y = k x2 + y2 = 4r2

k2 =

20r2

52r2

r252

9

r220

9

50. If  touches the circle  then point 

lies on (a) straight line (b) circle (c) parabola (d) ellipse

A. a straight line

B. a circle

+ = 1
x

α

y

β
x2 + y2 = a2 ( , )

1

α

1

β

https://dl.doubtnut.com/l/_nojnBcdLxv7A
https://dl.doubtnut.com/l/_ZIRIYSj473lP
https://dl.doubtnut.com/l/_w6rQbYDuxGMz


C. a parabola

D. an ellipse

Answer: B

Watch Video Solution

51. The locus of the point  for which the line 

touches the circle , is

A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: A

Watch Video Solution

P (h, k) hx + ky = 1

x2 + y2 = 4

https://dl.doubtnut.com/l/_w6rQbYDuxGMz
https://dl.doubtnut.com/l/_x6txDykKglOd
https://dl.doubtnut.com/l/_KOqml3LtIUvf


52. If the line  be a tangent to the circle 

, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y cosα = x sinα + a cosα

x2 + y2 = a2

sin2 α = 1

cos2 α = 1

sin2 α = a2

cos2 α = a2

53. Let  be a straight line passing through the origin and  be the

straight line  if the intercepts made by the circle

 on  and  are equal, then which of the

following equations can represent ?

A. 

L1 L2

x + y = 1

x2 + y2 − x + 3y = 0 L1 L2

L1

x + y = 0, x − 7y = 0

https://dl.doubtnut.com/l/_KOqml3LtIUvf
https://dl.doubtnut.com/l/_dIfzHH8HVelk


B. 

C. 

D. 

Answer: B

Watch Video Solution

x − y = 0, x + 7y = 0

7x + y = 0

x − 7y = 0

54. If the line 
 touches the circle 
 , then

prove that 
lies on a circle.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

lx + my − 1 = 0 x2 + y2 = a2

(l, m)

x2 + y2 = a− 2

x2 + y2 = a4

x2 + y2 = a− 1

https://dl.doubtnut.com/l/_dIfzHH8HVelk
https://dl.doubtnut.com/l/_wcjrwEw2f2zG


55. If a chord of a the circle  makes equal intercepts of

length of l on the co-ordinate axes, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = 32

l ∈ ( − 8, 8)

l ∈ ( − 4√2, 4√2)

l ∈ (0. 8)

l ∈ ( − 8, 0)

56. Find the equation of the chord of the circle 
 passing

through the point (2, 3) farthest from the center.

A. 

B. 

x2 + y2 = a2

2x + 3y = 13

3x − y = 3

https://dl.doubtnut.com/l/_wcjrwEw2f2zG
https://dl.doubtnut.com/l/_nYO7Zw5vgU36
https://dl.doubtnut.com/l/_9XQZFO9Ekioj


C. 

D. 

Answer: C

Watch Video Solution

−2y + 4 = 0

x − y + 1 = 0

57. If one of the diameters of the circle  is a

chord to the circle with centre (2, 1), then the radius of circle is:

A. 

B. 

C. 3

D. 2

Answer: C

Watch Video Solution

x2 + y2 − 2x − 6y + 6 = 0

√3

√2

https://dl.doubtnut.com/l/_9XQZFO9Ekioj
https://dl.doubtnut.com/l/_fpSZv9rD4AVq
https://dl.doubtnut.com/l/_XpVLPwLfvI1X


58. A straight line moves such that the algebraic sum of the

perpendiculars
 drawn to it from two fixed points is equal to 
 . Then,

then straight line always touches a fixed circle of radius.
 
(b) 
(c) 
 (d)

none of these

A. 2k

B. k/2

C. k

D. none of these

Answer: C

Watch Video Solution

2k

2k
k

2
k

59. Find the equation of the tangent to the circle

 at 

A. 

x2 + y2 − 30x + 6y + 109 = 0 (4, − 1)

11x − 2y − 46 = 0

https://dl.doubtnut.com/l/_XpVLPwLfvI1X
https://dl.doubtnut.com/l/_ybfrx5otLA2X


B. 

C. 

D. 

Answer: A

Watch Video Solution

11x − 3y − 47 = 0

10x − 3y − 43 = 0

11x + 2y − 42 = 0

60. The equation of the tangent of the circle 

which make equal intercepts on the positive coordinate axes, is-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 4x − 4y + 4 = 0

x + y = 2

x + y = 2√2

x + y = 4

x + y = 8

https://dl.doubtnut.com/l/_ybfrx5otLA2X
https://dl.doubtnut.com/l/_uvuZbuvr1siF


61. If the tangent from a point p to the circle  is

perpendicular to the tangent from p to the circle  , then the

locus of p is

A. a circle of radius 2

B. a circle of radius 4

C. a circle of radius 3

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 1

x2 + y2 = 3

62. The locus of the point of intersection of perpendicular tangents to

the circles  and  , is

A. 

x2 + y2 = a2 x2 + y2 = b2

x2 + y2 = a2 − b2

https://dl.doubtnut.com/l/_uvuZbuvr1siF
https://dl.doubtnut.com/l/_kUebcTjsWaTl
https://dl.doubtnut.com/l/_kIu3Kb3y6qMy


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = a2 + b2

x2 + y2 = (a + b)2

63. The locus of the point of intersection of the tangents to the circle

 at points whose parametric angles differ by .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = a2 π

3

x2 + y2 = 4a2

3(x2 + y2) = a2

3(x2 + y2) = 4a2

4(x2 + y2) = 3a2

https://dl.doubtnut.com/l/_kIu3Kb3y6qMy
https://dl.doubtnut.com/l/_JlrfhYEM7y6D


64. If  and  are two tangents to a

circle, then the radius the circle, is

A. 1

B. 2

C. 4

D. 6

Answer: A

Watch Video Solution

5x − 12y + 10 = 0 12y − 5x + 16 = 0

65. The equation of the tangent to the circle 
 passing

through 
is

A. 

B. 

x2 + y2 = 25

( − 2, 11)

4x + 3y = 25

3x + 4y = 38

https://dl.doubtnut.com/l/_JlrfhYEM7y6D
https://dl.doubtnut.com/l/_wfNz9g3tIE6T
https://dl.doubtnut.com/l/_kYE4s0V75pMN


C. 

D. 

Answer: A

Watch Video Solution

24x + 7y + 125 = 0

7x + 24y = 230

66. If the line hx + ky = 1 touches , then the locus of the

point (h, k) is a circle of radius

A. a

B. 1/a

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = a2

√a

1/√a

https://dl.doubtnut.com/l/_kYE4s0V75pMN
https://dl.doubtnut.com/l/_QVggRxpqGwZf
https://dl.doubtnut.com/l/_nN0PyYlNkQC9


67. The area of the triangle formed by the tangent at the point (a, b) to

the circle  and the coordinate axes, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = r2

r4

2ab

r4

2|ab|

r4

ab

r4

|ab|

68. Equation of the tangent to the circle at the point (1, -1) whose centre

is the point of intersection of the straight lines x-y=1 and 2x+y-3=0, is

A. 3x-y-4=0

B. x+4y+3=0

C. x-3y-4=0

https://dl.doubtnut.com/l/_nN0PyYlNkQC9
https://dl.doubtnut.com/l/_oTH6HtW6hQfN


D. 4x+y-3=0

Answer: B

Watch Video Solution

69. If the line 
 touches the circle at the point 
 and

the centre of the circle lies in the line 
Find the equation

of the circle.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x − y + 1 = 0 (2, 5)

x + y − 9 = 0.

x2 + y2 − 12x + 6y + 5 = 0

x2 + y2 − 12x − 6y − 5 = 0

x2 + y2 + 12x + 6y + 15 = 0

x2 + y2 − 12x − 6y + 25 = 0

https://dl.doubtnut.com/l/_oTH6HtW6hQfN
https://dl.doubtnut.com/l/_1OEFoRehezsz
https://dl.doubtnut.com/l/_y18BQw6sb2UQ


70. If the line  is tangent at point  and the line 

 is tangent at the point  to a circle then equation of

circle

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x − 3y = − 12 ( − 3, 0)

3x + 4y = 16 (4, 1)

x2 + y2 − 2x + 6y − 15 = 0

x2 + y2 − 2x + 6y − 20 = 0

x2 + y2 + 2x + 6y − 15 = 0

x2 + y2 − 2x − 6y − 15 = 0

71. The equation of the circle which touches the circle

 externally and to which the lines 

 are normals, is

A. 

B. 

x2 + y2 − 6x + 6y + 17 = 0

x2 − 3xy − 3x + 9y = 0

x2 + y2 − 6x − 2y − 1 = 0

x2 + y2 − 6x − 2y + 1 = 0

https://dl.doubtnut.com/l/_y18BQw6sb2UQ
https://dl.doubtnut.com/l/_dMk7s30SeYId


C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 6x + 2y + 1 = 0

x2 + y2 − 6x + 2y + 1 = 0

72. The area of the triangle formed by the positive x-axis with the normal

and the tangent to the circle  at  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 4 (1, √3)

2√3

3√2

√6

https://dl.doubtnut.com/l/_dMk7s30SeYId
https://dl.doubtnut.com/l/_GWVsnnmMJ3am
https://dl.doubtnut.com/l/_k2bUBdOrtW94


73. Find the equation of the tangents through (7,1) to the circle

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 25

3x + 4y − 25 = 0, 4x − 3y − 25 = 0

4x + 3y − 31 = 0, 3x − 4y − 17 = 0

3x − 2y − 19 = 0, 2x + 3y − 17 = 0

74. The angle between the two tangents from the origin to the circle

 equals

A. 

B. 

C. 

(x − 7)2 + (y + 1)2 = 25

π

4

π

3

π

2

https://dl.doubtnut.com/l/_k2bUBdOrtW94
https://dl.doubtnut.com/l/_JKkVsb3iNppn


D. 

Answer: C

Watch Video Solution

2π

3

75. Angle at which the circle  can be seen from  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 16 (8, 0)

30∘

60∘

150∘

120∘

https://dl.doubtnut.com/l/_JKkVsb3iNppn
https://dl.doubtnut.com/l/_nzrbgRiTN7eo


76. The angle between a pair of tangents from a point P to the circe

 is . Find the equation

of the locus of the point P.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 4x − 6y + 9 sin2 α + 13 cos2 α = 0 2α

x2 + y2 + 4x − 6y + 4 = 0

x2 + y2 + 4x − 6y − 9 = 0

x2 + y2 + 4x − 6y − 4 = 0

x2 + y2 + 4x − 6y + 9 = 0

77. The equation of tangents drawn from the origin to the circle

A. 

B. 

x2 + y2 − 2rx − 2hy + h2 = 0

h = ± r

h = ± 2r

https://dl.doubtnut.com/l/_dvIWnaitT6gb
https://dl.doubtnut.com/l/_9Bei12mjr3zn


C. 

D. 

Answer: A

Watch Video Solution

h2 + r2 = 1

h = ± 3r

78. The number of real tangents that can be drawn from (2, 2) to the circle

, is

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

x2 + y2 − 6x − 4y + 3 = 0

https://dl.doubtnut.com/l/_9Bei12mjr3zn
https://dl.doubtnut.com/l/_1lo3KHWXj2eg
https://dl.doubtnut.com/l/_k5LRFJbvIxNC


79. Tangents drawn from the point (4, 3) to the circle

 are inclined at an angle

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 2x − 4y = 0

π/6

π/4

π/3

π/2

80. The angle between the two tangents from the origin to the circle

 equals

A. 

B. 

C. 

(x − 7)2 + (y + 1)2 = 25

π/3

π/6

π/2

https://dl.doubtnut.com/l/_k5LRFJbvIxNC
https://dl.doubtnut.com/l/_9m6EvzNAvFd5


D. 

Answer: C

Watch Video Solution

π/8

81. The length of the tangent to the circle 

from (-1, -3), is

A. 

B. 

C. 4

D. 8

Answer: B

Watch Video Solution

x2 + y2 − 2x − y − 7 = 0

√8

2√2

https://dl.doubtnut.com/l/_9m6EvzNAvFd5
https://dl.doubtnut.com/l/_FmS9HNJNZO2m


82. The length of the tangent from (0, 0) to the circle

, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2(x2 + y2) + x − y + 5 = 0

√5

√5/2

√2

√5/2

83. Find the length of the tangent drawn from any point on the circle


 to the circle 

A. 

B. 

x2 + y2 + 2gx + 2fy + c1 = 0

x2 + y2 + 2gx + 2fy + c2 = 0

c1 − c

c − c1

https://dl.doubtnut.com/l/_PgRDHHOXu0Y1
https://dl.doubtnut.com/l/_efKffUqu5Uqj


C. 

D. 

Answer: D

Watch Video Solution

√c − c1

√c1 − c

84. The lengths of the tangents from any point on the circle

 to the two circles 


 


 are in the ratio

A. 

B. 

C. 

D. none of these

Answer: A

W t h Vid S l ti

15x2 + 15y2 − 48x + 64y = 0

5x2 + 5y2 − 24x + 32y + 75 = 0

5x2 + 5y2 − 48x + 64y = 0

1: 2

2: 3

3: 4

https://dl.doubtnut.com/l/_efKffUqu5Uqj
https://dl.doubtnut.com/l/_yHa17kD04vUM


Watch Video Solution

85. If the distances from the origin of the centers of three circles


 are in GP, then prove that the

lengths of the tangents drawn to them
 from any point on the circle


are in GP.

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: B

Watch Video Solution

x2 + y2 + 2λx − c2 = 0, (i = 1, 2, 3),

x2 + y2 = c2

86. The locus of a point which moves such that the tangents from it to

the two circles  and x2 + y2 − 5x − 3 = 0 3x2 + 3y2 + 2x + 4y − 6 = 0

https://dl.doubtnut.com/l/_yHa17kD04vUM
https://dl.doubtnut.com/l/_xuCG7MWpM6tP
https://dl.doubtnut.com/l/_8Oyj5h1YQ6iL


are equal, is given by

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x2 + 2y2 + 7x + 4y − 3 = 0

17x + 4y + 3 = 0

4x2 + 4y2 − 3x + 4y − 9 = 0

13x − 4y + 15 = 0

87. If , then angle between the tangents from 

to the circle , is

A. 

B. 

C. 

D. none of these

S1 = α2 + β2 − a2 (α, β)

x2 + y2 = a2

tan− 1( )
a

√S1

2 tan− 1( )
a

√S1

2 tan− 1( )
√S1

a

https://dl.doubtnut.com/l/_8Oyj5h1YQ6iL
https://dl.doubtnut.com/l/_wza7uOQf6fMn


Answer: B

Watch Video Solution

88. If the tangent at the point on the circle  meets

the straight ine  at a point Q on the y- axis then the

length of PQ is

A. 4

B. 

C. 5

D. 

Answer: C

Watch Video Solution

x2 + y2 + 6x + 6y = 2

5x − 2y + 6 = 0

2√5

3√5

https://dl.doubtnut.com/l/_wza7uOQf6fMn
https://dl.doubtnut.com/l/_HrCjuHx4YfEo


89. The angle between the tangents drawn from a point on the director

circle  to the circle , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 50 x2 + y2 = 25

45∘

60∘

90∘

120∘

90. Tangents are drawn from a point on the circle

 to the circle .

The angle between the tangents, is

A. 

B. 

x2 + y2 − 4x + 6y − 37 = 0 x2 + y2 − 4x + 6y − 12 = 0

π

4

π

3

https://dl.doubtnut.com/l/_miOOIJeuwX2V
https://dl.doubtnut.com/l/_LrYapgot3h6S


C. 

D. 

Answer: D

Watch Video Solution

π

6

π

2

91. If the chord of contact of the tangents drawn from a point on the

circle 
 to the circle 
 touches the circle 


, then prove that 
and 
are in GP.

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: B

Watch Video Solution

x2 + y2 + y2 = a2 x2 + y2 = b2

x2 + y2 = c2 a, b c

https://dl.doubtnut.com/l/_LrYapgot3h6S
https://dl.doubtnut.com/l/_a5D3gLM4rrKk


92. If the straight line  intersects the circle 

at points P and Q, then find the coordinates of the point of intersection

of the tangents drawn at P and Q to the circle .

A. (25, -50)

B. (-25, 50)

C. (-25, -50)

D. (25, 50)

Answer: B

Watch Video Solution

x − 2y + 1 = 0 x2 + y2 = 25

x2 + y2 = 25

93. The range of g so that we have always a chord of contact of tangents

drawn from a real point  to the circle ,

is

A. (-3, 0)

(α, α) x2 + y2 + 2gx + 4y + 2 = 0

https://dl.doubtnut.com/l/_a5D3gLM4rrKk
https://dl.doubtnut.com/l/_4FIaEPf8JA3e
https://dl.doubtnut.com/l/_b43J12GB74fz


B. (-4, 1)

C. (-4, 0)

D. none of these

Answer: C

Watch Video Solution

94. Find the condition that the chord of contact of tangents from the

point  to the circle  should subtend a right angle at

the centre. Hence find the locus of .

A. 

B. 

C. 

D. none of these

Answer: C

(α, β) x2 + y2 = a2

(α, β)

α2 + β2 =
a2

2

α2 + β2 = a2

α2 + β2 = 2a2

https://dl.doubtnut.com/l/_b43J12GB74fz
https://dl.doubtnut.com/l/_tX3ZEgVxdwNm


Watch Video Solution

95. Tangents are drawn from the point (h,k) to ^circle ;

Prove that the area of the triangle formed by them and the straight line

joining their point of contact is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = a2

a(h2 + k2 − a2)
3
2

h2 + k2

(h2 + k2 − a2)
3 / 2

h2 + k2

a(h2 + k2 − a2)
1 / 2

h2 + k2

a(h2 + k2 − a2)
1 / 2

h2 + k2

(h2 + k2 − a2)
3 / 2

a(h2 + k2)

96. From the point P(3, 4) tangents PA and PB are drawn to the circle

. The area of  PAB in square units, isx2 + y2 + 4x + 6y − 12 = 0 Δ

https://dl.doubtnut.com/l/_tX3ZEgVxdwNm
https://dl.doubtnut.com/l/_XSKAPn8dnRMS
https://dl.doubtnut.com/l/_DmeKbOiqgHgW


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1323

42

1715
74

926

17

1409
13

97. The equation of the chord of the circle  which

is bisected at the point (5, -3), is

A. 2x+y-7=0

B. x+2y+1=0

C. 2x-y-13=0

D. x-2y-11=0

Answer: A

x2 + y2 − 6x + 8y = 0

https://dl.doubtnut.com/l/_DmeKbOiqgHgW
https://dl.doubtnut.com/l/_XimyoucbuXXD


Watch Video Solution

98. Find the middle point of the chord intercepted on line

 by circle .

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

lx + my + n = 0 x2 + y2 = a2

( , )
− l

l2 + m2

−m

l2 + m2

( , )
−ln

l2 + m2

−mn

l2 + m2

( , )
− l

n(l2 + m2)

−m

n(l2 + m2)

99. Find the locus of the midpoint of the chords of the circle


which subtend a right angle at the point 

A. 

x2 + y2 = a2 (c, 0).

x2 + y2 =
a2

2

https://dl.doubtnut.com/l/_XimyoucbuXXD
https://dl.doubtnut.com/l/_oAhpAlx6pE01
https://dl.doubtnut.com/l/_3ERNvwTTa5yq


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 2a2

x2 + y2 =
a2

4

100. The locus of the middle points of chords of the circle 

which are parallel to the line , is

A. x+2y=0

B. 2x+y=0

C. x-2y=0

D. 2x-y=0

Answer: B

Watch Video Solution

x2 + y2 = 25

x − 2y + 3 = 0

https://dl.doubtnut.com/l/_3ERNvwTTa5yq
https://dl.doubtnut.com/l/_YJglN6DMYycf


101. If the line 
 touches the circle 
 , then

prove that 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

lx + my + n = 0 x2 + y2 = a2

(l2 + m2)
2

= n2.

( , )
a2l

n

a2m

n

(a , )
−a2l

n

−a2m

n

( , )
−a2n

n

−a2n

m

102. If the pole of a straight line with respect to the circle 

lies on the circle , then the straight line touches the circle

A. 

B. 

x2 + y2 = a2

x2 + y2 = 9a2

x2 + y2 = 9a2

x2 + y2 = 2a2

https://dl.doubtnut.com/l/_YJglN6DMYycf
https://dl.doubtnut.com/l/_Hr7QHBmhdQJi
https://dl.doubtnut.com/l/_9WK42UNbQUit


C. 

D. 

Answer: C

Watch Video Solution

9(x2 + y2) = a2

4(x2 + y2) = 9a2

103. The length of the transversal common tangent to the circle

 and  is , then t=

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 1 (x − t)2 + y2 = 1 √21

±2

±5

±3

https://dl.doubtnut.com/l/_9WK42UNbQUit
https://dl.doubtnut.com/l/_zTu90wvJRbU5
https://dl.doubtnut.com/l/_F36sezLFa57v


104. Let the line segment joining the centres of the circles

 and  intersect the circles

at P and Q respectively. Then the equation of the circle with PQ as its

diameter is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 2x + y2 = 0 x2 + y2 + 4x + 8y + 16 = 0

52 + 5y2 − 2x − 16y + 8 = 0

5x2 + 5y2 − 8x − 24y + 27 = 0

5x2 + 5y2 + 8x + 24y + 27 = 0

5x2 + 5y2 + 2x + 16y + 8 = 0

105. The number of common tangents to the circles

 and , is

A. 3

x2 + y2 − 4x − 6y − 12 = 0 x2 + y2 + 6x + 18y + 26 = 0

https://dl.doubtnut.com/l/_F36sezLFa57v
https://dl.doubtnut.com/l/_KAiCyANt6g4K


B. 4

C. 1

D. 2

Answer: A

Watch Video Solution

106. Let C be the circle with centre at (1, 1) and radius
= 1. If T is the circle

centred at (0, y), passing through origin and touching
 the circle C

externally, then the radius of T is equal to
(1) 
(2) 
(3) 
(3) 

A. 

B. 

C. 

D. 

Answer: B

√3

√2

√3

2

1

2

1

4

1
2

1

4

√
3
2

√3
2

https://dl.doubtnut.com/l/_KAiCyANt6g4K
https://dl.doubtnut.com/l/_CVZm7Df831mg


Watch Video Solution

107. Two circles of radii  and  touch each other

externally. If  be the angle between the direct common tangents, then,

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

r1 r2, r1 > r2 ≥ 2

θ

θ = sin− 1( )
r1 + r2

r1 − r2

θ = 2 sin− 1( )
r1 − r2

r1 + r2

θ = sin− 1( )
r1 − r2

r1 + r2

108. A circle touches the -axis and also touches the circle with center

 and radius . The locus of the center

A. parabola

x

(0, 3) 2

https://dl.doubtnut.com/l/_CVZm7Df831mg
https://dl.doubtnut.com/l/_bJQLzUTgtEFY
https://dl.doubtnut.com/l/_YyhtsyNRF9s7


B. a hyperbola

C. a circle

D. an ellipse

Answer: A

Watch Video Solution

109. For the given circles  and 

, which of the following is true?

A. One circle lies inside the other

B. One circle lies completely outside the other

C. Two circles intersection in two points

D. They touch each other externally

Answer: D

Watch Video Solution

x2 + y2 − 6x − 2y + 1 = 0

x2 + y2 + 2x − 8y + 13 = 0

https://dl.doubtnut.com/l/_YyhtsyNRF9s7
https://dl.doubtnut.com/l/_LeU0wuIlGcPp


110. How many common tangents can be drawn to the following circles

 and ?

A. 4

B. 3

C. 2

D. 1

Answer: A

Watch Video Solution

x2 + y2 = 6x x2 + y2 + 6x + 2y + 1 = 0

111. There are two circles  and  touching each other and the

coordinate axes, if  is smaller than  and its radius is 2 units, then

radius of , is

A. 

C1 C2

C1 C2

C2

6 + 4√2

https://dl.doubtnut.com/l/_LeU0wuIlGcPp
https://dl.doubtnut.com/l/_bVLF691Jj1Tg
https://dl.doubtnut.com/l/_ceo9x9n97nig


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

2 + 2√2

3 + 2√2

112. For the two circles , there is/are

A. one pair of common tangents

B. two pairs of common tangents

C. three common tangents

D. no common tangents

Answer: D

Watch Video Solution

x2 + y2 = 16 and x2 + y2 − 2y = 0

https://dl.doubtnut.com/l/_ceo9x9n97nig
https://dl.doubtnut.com/l/_xIzdulhujIF5
https://dl.doubtnut.com/l/_dW6rjK5IE2a6


113. The common tangents to the circles

 form a triangle which is

A. equilateral

B. isosceles

C. right angled

D. none of these

Answer: B

Watch Video Solution

x2 + y2 + 2x = 0 and x2 + y2 − 6x = 0

114. If two circles  and 

 intersect in two distinct points , then

A. 

B. 

C. 

(x − 1)2 + (y − 3)2 = r2

x2 + y2 − 8x + 2y + 8 = 0

2 < r < 8

r < 2

r = 2

https://dl.doubtnut.com/l/_dW6rjK5IE2a6
https://dl.doubtnut.com/l/_xrOmxEb0kZTf


D. 

Answer: A

Watch Video Solution

r > 2

115. The two circles  touch each

other if (1)  (2)  (3)  (4) 

A. c=|a|

B. 2a=|c|

C. 2c=a

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = ax and x2 + y2 = c2(c > 0)

a = 2c |a| = 2c 2|a| = c |a| = c

https://dl.doubtnut.com/l/_xrOmxEb0kZTf
https://dl.doubtnut.com/l/_7aAUvPBNB1dI


116. The number of common tangents to the circles

 is

A. 0

B. 1

C. 3

D. 4

Answer: B

Watch Video Solution

x2 + y2 = 4 and x2 + y2 − 6x − 8y = 24

117. The number of common tangents to the circles one of which passes

through the origin and cuts off intercepts 2 from each of the axes and

the other circle has the segment joining the origin and the point (1, 1) as

a diameter, is

A. 0

https://dl.doubtnut.com/l/_oAF6zuSpGHvd
https://dl.doubtnut.com/l/_GUj2dhe7jMd3


B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

118. The length of the common chord of two circles of radii 15 and 20,

whose centres are 25 units apart, is

A. 24

B. 25

C. 15

D. 20

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_GUj2dhe7jMd3
https://dl.doubtnut.com/l/_U1sjsK41QPRP


119. If length of the common chord of the circles

 then the

value of  (where [ - ] denotes greatest integer function)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2x + 3y + 1 = 0 and x2 + y2 + 4x + 3y + 2 = 0

[a].

9

2

2√2

3√2

3

2

120. The length of the common chord of the circles

 and , is

A. 

(x − a)2 + (y − b)2 = c2 (x − b)2 + (y − a)2 = c2

2√c2 − (a − b)2

https://dl.doubtnut.com/l/_U1sjsK41QPRP
https://dl.doubtnut.com/l/_6BgtQPug7nBa
https://dl.doubtnut.com/l/_2M2s2Le7bhxm


B. 

C. 

D. 

Answer: B

Watch Video Solution

√4c2 − 2(a − b)2

√2c2 − (a − b)2

√4c2 + 2(a − b)2

121. If the circle  bisects the circumference of

the circle  , then

A. 21

B. -21

C. 23

D. -23

Answer: D

Watch Video Solution

x2 + y2 + 6x − 2y + k = 0

x2 + y2 + 2x − 6y − 15 = 0

https://dl.doubtnut.com/l/_2M2s2Le7bhxm
https://dl.doubtnut.com/l/_raNIQRDTZZD5


122. If the circles  bisects 

 then the length of the common chord

of these two circles is -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 2g' x + 2f' y + c' = 0

2√g2 + f 2 − c

2√g'
2 + g'

2 − c'

2√g2 + f 2 + c

2√g'
2 + f'

2 + c'

123. If the circle  bisects the circumference

of the circle ,then is equal to

A. 60

x2 + y2 + 4x + 22y + c = 0

x2 + y2 − 2x + 8y − d = 0 (c + d)

https://dl.doubtnut.com/l/_raNIQRDTZZD5
https://dl.doubtnut.com/l/_Mx2QMQReWg1w
https://dl.doubtnut.com/l/_8CA3BclYnSD6


B. 50

C. 40

D. 56

Answer: B

Watch Video Solution

124. Find the angle of intersection of the circles

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 6x + 4y + 11 = 0 and x2 + y2 − 4x + 6y + 9 = 0

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_8CA3BclYnSD6
https://dl.doubtnut.com/l/_XtLNWdfb9IQs


125. The value of k so that  and 

 cut orthogonally, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + kx + 4y + 2 = 0

2(x2 + y2) − 4x − 3y + k = 0

10

3

−8

3

−10

3

8

3

126. If the circles 
 and 


 intersect othrogonally, then prove
 that 

A. 

x2 + y2 + 2a ′x + 2b ′y + c ′ = 0

2x2 + 2y2 + 2ax + 2by + c = 0

aa ′ + ^ (' ) = c + c 2.
′
□

aa' + ′ = c + c'

https://dl.doubtnut.com/l/_XtLNWdfb9IQs
https://dl.doubtnut.com/l/_3vmJavTQzfVk
https://dl.doubtnut.com/l/_7sQjdjTfECN6


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

aa' + ′ = c +
c'

2

aa' + ′ = + c'
c

2

127. If the circles  and 

 intersect orthogonally then k equals (A)

 (B)  (C)  (D) 

A. 

B. 

C. 

D. 

Answer: A

x2 + y2 + 2x + 2ky + 6 = 0

x2 + y2 + 2ky + k = 0

2 or −
3

2
−2 or −

3

2
2 or

3

2
−2 or

3

2

2 or −
3

2

−2 or −
3

2

2 or
3

2

−2 or
3

2

https://dl.doubtnut.com/l/_7sQjdjTfECN6
https://dl.doubtnut.com/l/_QOCbHbkfZeMT


Watch Video Solution

128. If a circle Passes through a point (1,2) and cut the circle 

orthogonally,Then the locus of its centre is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 4

x2 + y2 − 3x − 8y + 1 = 0

x2 + y2 − 2x − 6y − 7 = 0

2x + 4y − 9 = 0

2x + 4y − 1 = 0

129. The locus of the centres of circles passing through the origin and

intersecting the fixed circle  orthogonally is

A. a straight line of slope 3/5

x2 + y2 − 5x + 3y − 1 = 0

https://dl.doubtnut.com/l/_QOCbHbkfZeMT
https://dl.doubtnut.com/l/_WZVqRDSrp0wS
https://dl.doubtnut.com/l/_nF9CIXNUNc01


B. a circle

C. a pair of straight lines

D. none of these

Answer: D

Watch Video Solution

130. A circle S passes through the point (0, 1) and is orthogonal to the

circles  and . Then (A) radius of S is 8 (B)

radius of S is 7 (C) center of S is (-7,1)
(D) center of S is (-8,1)

A. radius of S is 8

B. radius of S is 7

C. centre of S is (-7, 1)

D. centre of S is (-8, 1)

Answer: B::C

(x − 1)2 + y2 = 16 x2 + y2 = 1

https://dl.doubtnut.com/l/_nF9CIXNUNc01
https://dl.doubtnut.com/l/_Wa9a5x5FB735


Watch Video Solution

131. The point from which the tangents to the circles

and 

 are equal in length, is

A. (8, 15/2)

B. (-8, 15/2)

C. (8, -15/2)

D. none of these

Answer: C

Watch Video Solution

x2 + y2 − 8x + 40 = 0, 5x2 + 5y2 − 25x + 80 = 0,

x2 + y2 − 8x + 16y + 160 = 0

132. The radical axis of two circles having centres at  and  and radii 

 and  is neither intersecting nor touching any of the circles, if

C1 C2

r1 r2

https://dl.doubtnut.com/l/_Wa9a5x5FB735
https://dl.doubtnut.com/l/_UZkN4wujgMBX
https://dl.doubtnut.com/l/_yFf26GmZi05P


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C1C2 = 0

0 < C1C2 < |r1 − r2|

C1C2 = |r1 − r2|

|r1 − r2| < C1C2 < r1 + r2

133. If the radical axis of the circles 
 and 


touches the circle 

, show that either 
or 

A.  and f=2

B.  and 

C.  and 

D.  and 

x2 + y2 + 2gx + 2fy + c = 0

2x2 + 2y2 + 3x + 8y + 2c = 0 x2 + y2 + 2x + 1 = 0

g =
3

4
f = 2

g =
4
3

g =
4
3

f =
1

2

g = −
3

4
f = 2

g =
3

4
f =

1

2

https://dl.doubtnut.com/l/_yFf26GmZi05P
https://dl.doubtnut.com/l/_KfR7Yn4CwTym


Answer: B

Watch Video Solution

134. Let there be 
 circles in a plane. The value of 
 for which the

number of radical centers is equal to the
 number of radical axes is

(assume that all radical axes and radical centers
exist and are different).
a.


b. 
c. 
d. none of these

A. 3

B. 4

C. 5

D. 8

Answer: C

Watch Video Solution

n ≥ 3 n

7 6 5

https://dl.doubtnut.com/l/_KfR7Yn4CwTym
https://dl.doubtnut.com/l/_XzC8Omrq5q3i


135. Two equal circles with their centres as x and y axis will possess the

radical axis in the following form

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax − by − = 0
a2 + b2

4

2gx − 2fy + g2 − f 2 = 0

g2x + f 2y − g4 − f 4 = 0

2g2x + 2f 2y − g4 − f 4 = 0

136. The equation of the circle on the common chord of the circles

 and  as diameter, is

A. 

B. 

C. 

(x − a)2 + y2 = a2 x2 + (y + b)2 = b2

x2 + y2 = 2ab(bx + ay)

x2 + y2 = bx + ay)

(a2 + b2)(x2 + y2) = 2ab(bx − ay)

https://dl.doubtnut.com/l/_L3Y5pCQ9LKpr
https://dl.doubtnut.com/l/_DNnQZxVuBg1O


D. 

Answer: C

Watch Video Solution

(a2 + b2)(x2 + y2) = 2(bx + ay)

137. The equation of the circle and its chord are-respectively

. The equation of the circle of

which this chord isa diameter is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = a2 and x cosα + y sinα = p

x2 + y2 − 2px cosα − 2py sinα + 2p2 − a2 = 0

x2 + y2 − 2px cosα − 2py sinα + p2 − a2 = 0

x2 + y2 + 2px cosα + 2py sinα + 2p2 − a2 = 0

https://dl.doubtnut.com/l/_DNnQZxVuBg1O
https://dl.doubtnut.com/l/_0HDhoWLEYPLh
https://dl.doubtnut.com/l/_3sEoYfDtRL3V


138. The circle passing through the point (-1,0) and touching the y-axis at

(0,2) also passes through the point:

A. (-3/2, 0)

B. (-5/2, 2)

C. (-3/2, 5/2)

D. (-4, 0)

Answer: D

Watch Video Solution

139. The circle passing
through (1, -2) and touching the axis of x at (3, 0)

also passes through the point
(1) (2, -5)
(2) (5, -2)
(3) (-2, 5)
(4) (-5, 2)

A. (-5, 2)

B. (2, -5)

C. (5, -2)

https://dl.doubtnut.com/l/_3sEoYfDtRL3V
https://dl.doubtnut.com/l/_tTswfQWpbU32


D. (-2, 5)

Answer: A

Watch Video Solution

140. The equation of circle passing through  and the points

common to the two circt

 is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(1, − 3)

x2 + y2 − 6x + 8y − 16 = 0, x2 + y2 + 4x − 2y − 8 = 0

x2 + y2 − 4x + 6y + 24 = 0

2x2 + 2y2 + 3x + y − 20 = 0

3x2 + 3y2 − 5x + 7y − 19 = 0

https://dl.doubtnut.com/l/_tTswfQWpbU32
https://dl.doubtnut.com/l/_BZkkv2qHcFnJ
https://dl.doubtnut.com/l/_SFu9P3wOl3n8


141. The equation of the circle whose diameter is the common chord of

the
circles; 
& 
 is:





None of these

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 + 3x + 2y + 1 = 0 x2 + y2 + 3x + 4y + 2 = 0

x2 + y2 + 8x + 10y + 2 = 0 x2 + y2 − 5x + 4y + 7 = 0

2x2 + 2y2 + 6x + 2y + 1 = 0

x2 + y2 + 8x + 10y + 2 = 0

x2 + y2 − 5x + 4y + 7 = 0

2x2 + 2y2 + 6x + 2y + 1 = 0

142. A variable chord is drawn through the origin to the circle


 . Find the locus of the center of the circle drawn on

this chord as
diameter.

A. 

x2 + y2 − 2ax = 0

x2 + y2 + ax = 0

https://dl.doubtnut.com/l/_SFu9P3wOl3n8
https://dl.doubtnut.com/l/_yCgsb932j5J3


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − ax = 0

x2 + y2 + ay = 0

x2 + y2 − ay = 0

143. Find the equation of the circle whose radius is 3 and which touches

internally the circle 
 at the point 

A. 

B. 

C. 

D. 

Answer: B

x2 + y2 − 4x − 6y = − 12 = 0

( − 1, − 1).

5x2 + 5y2 + 8x − 14y − 16 = 0

5x2 + 5y2 − 8x − 14y − 32 = 0

5x2 + 5y2 − 8x + 14y − 4 = 0

5x2 + 5y6(2) + 8x + 14y + 12 = 0

https://dl.doubtnut.com/l/_yCgsb932j5J3
https://dl.doubtnut.com/l/_HsRUrSeVAp1L


Watch Video Solution

144. Tangents  and  are drawn from the origin o to the circle

 Find the equation of the circumcircle of

the triangle .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

OP OQ

x2 + y2 + 2gx + 2fy + c = 0.

OPQ

x2 + y2 + 2gx + 2fy = 0

x2 + y2 + gx + fy = 0

x2 + y2 − gx − fy = 0

x2 + y2 − 2gx − 2fy = 0

145. The equation of the circle which passes through the points of

intersection of the circles  and  and

has its centre at (3/2, 3/2), is

x2 + y2 − 6x = 0 x2 + y2 − 6y = 0

https://dl.doubtnut.com/l/_HsRUrSeVAp1L
https://dl.doubtnut.com/l/_Q3xsN3jrMAvi
https://dl.doubtnut.com/l/_Vj8WoO7g2fJw


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 3x + 3y + 9 = 0

x2 + y2 + 3x + 3y = 0

x2 + y2 − 3x − 3y = 0

x2 + y2 − 3x − 3y + 9 = 0

146. The limiting points of the system of circles represented by the

equation , are

A. 

B. 

C. 

D. 

Answer: A

2(x2 + y2) + λx + = 0
9

2

( ± , 0)
3

2

(0, 0), ( , 0)
9

2

( ± , 0)
9

2

( ± 3, 0)

https://dl.doubtnut.com/l/_Vj8WoO7g2fJw
https://dl.doubtnut.com/l/_C8M4iJH9jQGY


Watch Video Solution

147. The radical axis of the circles, belonging to the coaxal system of

circles whose limiting points are (1, 3) and (2, 6), is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x − 3y − 15 = 0

x + 3y − 15 = 0

x − 3y + 15 = 0

2x + 3y − 15 = 0

148. If (1, 2) is a limiting point of a coaxial system of circles containing the

circle , then the equation of the radical axis, is

A. 

x2 + y2 + x − 5y + 9 = 0

x + 2y + 9 = 0

https://dl.doubtnut.com/l/_C8M4iJH9jQGY
https://dl.doubtnut.com/l/_Un4Gog73K4lH
https://dl.doubtnut.com/l/_XdpUvo5p7f25


B. 

C. 

D. 

Answer: B

Watch Video Solution

3x − y + 4 = 0

x + 9y − 4 = 0

3x − y − 1 = 0

149. The limiting points of the coaxial system containing the two circles

 and  are

A. (1, -1), (-5, -40)

B. (1, -1), (-1/5, -8/5)

C. (-1, 1) , (1/5, 8/5)

D. (-1, 1), (-1/5, -8/5)

Answer: C

Watch Video Solution

x2 + y2 + 2x − 2y + 2 = 0 25(x2 + y2) − 10x − 80y + 65 = 0

https://dl.doubtnut.com/l/_XdpUvo5p7f25
https://dl.doubtnut.com/l/_KyhWtQJOasWU


Section I - Solved Mcqs

1. The equation  represents

A. a point (3, -4)

B. a pair of straight lines x=3, y=-4

C. a circle of non-zero radius

D. none of these

Answer: A

Watch Video Solution

x2 + y2 − 6x + 8y + 25 = 0

2. The number of integral values of  for which the equation

 represents a circle whose radius cannot

exceed 6, is

λ

x2 + y2 − 2λx + 2λy + 14 = 0

https://dl.doubtnut.com/l/_KyhWtQJOasWU
https://dl.doubtnut.com/l/_8TmbS6MBEWvT
https://dl.doubtnut.com/l/_W3jtpEVd6uWk


A. 10

B. 11

C. 12

D. 9

Answer: B

Watch Video Solution

3. If the equation  represent a

circle. Then

A. 

B. 

C. 

D. none of these

Answer: C

x2 + y2 + 6x − 2y + (λ2 + 3λ + 12) = 0

λ ∈ R

λ ∈ [1, 2]

[ − 2, − 1]

https://dl.doubtnut.com/l/_W3jtpEVd6uWk
https://dl.doubtnut.com/l/_i5ipsq5G2oZ9


Watch Video Solution

4. If  represents a circle of meaningful

radius, then the range of real values of , is

A. R

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

2(x2 + y2) + 4λx + λ2 = 0

λ

(0, ∞)

( − ∞, 0)

5. The locus of a point which moves such that the sum of the square of its

distance from three vertices of a triangle is constant is a/an
 circle (b)

straight line (c) ellipse (d)
none of these

https://dl.doubtnut.com/l/_i5ipsq5G2oZ9
https://dl.doubtnut.com/l/_QTxvR4ECP0OK
https://dl.doubtnut.com/l/_60dUQEdnR1dw


A. circle

B. straight line

C. ellipse

D. none of these

Answer: A

Watch Video Solution

6. Prove that the locus of a point which moves such
that the sum of the

square of its distances from the vertices of a triangle
 is constant is a

circle having centre at the centroid of the triangle.

A. centroid of triangle ABC

B. circumcentre of 

C. orthocentre of 

D. none of these

ΔABC

ΔABC

https://dl.doubtnut.com/l/_60dUQEdnR1dw
https://dl.doubtnut.com/l/_Bykmv0xatWyE


Answer: A

Watch Video Solution

7. The equation of the circle passing through the point (-1, 2) and having

two diameters along the pair of lines , is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 − y2 − 4x + 2y + 3 = 0

x2 + y2 − 4x − 2y + 5 = 0

x2 + y2 + 4x + 2y − 5 = 0

x2 + y2 − 4x − 2y − 5 = 0

8. A circle of radius 'r' passes through the origin  and cuts the axes at A

and B,Locus of the centroid of triangle OAB is

O

https://dl.doubtnut.com/l/_Bykmv0xatWyE
https://dl.doubtnut.com/l/_OvuSTJRe7d4m
https://dl.doubtnut.com/l/_a4kUL0keQ4CF


A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

x2 + y2 = k2

x2 + y2 = 2k2

x2 + y2 = 3k2

9. The equation  represents points

A. which are collinear

B. which lie on a circle with centre at (0, 0)

C. which lie on a circle with centre at (a, b)

D. none of these

Answer: B

Watch Video Solution

(x2 − a2)
2

+ (y2 − b2)
2

= 0

https://dl.doubtnut.com/l/_a4kUL0keQ4CF
https://dl.doubtnut.com/l/_SOx0UiqsNfwo


10. Find the greatest distance of the point 
 from the circle 

A. 10

B. 15

C. 5

D. none of these

Answer: B

Watch Video Solution

P (10, 7)

x2 + y2 − 4x − 2y − 20 = 0

11. If the base of a triangle and the ratio of the lengths of the other two

unequal sides are given, then the vertex lies on

A. straight line

B. circle

https://dl.doubtnut.com/l/_SOx0UiqsNfwo
https://dl.doubtnut.com/l/_j9omHwQOBa3O
https://dl.doubtnut.com/l/_gyry7d9ZcWAg


C. ellipse

D. parabola

Answer: B

Watch Video Solution

12. Two conics 

intersect in 4 concyclic points. Then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a1x
2 + 2h1xy + b1y

2 = c1, a2x
2 + 2h2xy + b2y

2 = c2

(a1 − b1h2 = (a2 − b2)h1

(A1 − b1)h1 = (a2 − b2)h2

(a1 + b1)h2 = (a2 + b2)h1

(a1 + b1)h1 = (a2 + b2)h2

https://dl.doubtnut.com/l/_gyry7d9ZcWAg
https://dl.doubtnut.com/l/_mbKXh1WeAlcP
https://dl.doubtnut.com/l/_maatMfG9TgcW


13. The number of points with integral coordinates that are interior to

the circle , is

A. 43

B. 49

C. 45

D. 51

Answer: C

Watch Video Solution

x2 + y2 = 16

14. Find the equation of the circle which is touched by 
 , has its

center on the positive direction of the x=axis and cuts off a
 chord of

length 2 units along the line 

A. 

B. 

y = x

√3y − x = 0

x2 + y2 − 4x + 2 = 0

x2 + y2 − 4x + 1 = 0

https://dl.doubtnut.com/l/_maatMfG9TgcW
https://dl.doubtnut.com/l/_zGwCZnj6lBr9


C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 8x + 8 = 0

x2 + y2 − 4y + 2 = 0

15. The locus of the centre of the circle which cuts the circle

 orthogonally and touches the line  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 20x + 4 = 0 x = 2

y2 = 16x + 4

x2 = 16y

x2 = 16y + 4

y2 = 16x

https://dl.doubtnut.com/l/_zGwCZnj6lBr9
https://dl.doubtnut.com/l/_FioTuWQqsM5w
https://dl.doubtnut.com/l/_ty7Zfua9X4PA


16. From the point A(0,3) on the circle  a chord

AB is drawn to a point such that AM = 2AB. The equation of the locus of M

is :-

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + 4x + (y − 3)2 = 0

x2 + (y − 3)2 = 0

x2 + 4x + (y + 3)2 = 0

x2 + 8x + (y − 3)2 = 16

(x + 4)2 + (y − 3)2 = 16

17. Two vertices of an equilateral triangle are 
 and (1, 0), and its

third vertex lies above the x-axis. The equation of
 its circumcircel is

____________

A. 

( − 1, 0)

x2 + y2 = 1

https://dl.doubtnut.com/l/_ty7Zfua9X4PA
https://dl.doubtnut.com/l/_njIB13VVkJgc


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

√3(x2 + y2) + 2y − √3 = 0

√3(x2 + y2) − 2y − √3 = 0

18. The geometric mean of the minimum and maximum values of the

distance of point (-7, 2) from the points on the circle

 is equal to

A. 

B. 13

C. 

D. 12

Answer: A

x2 + y2 − 10x − 14y − 51 = 0

2√11

5√5

https://dl.doubtnut.com/l/_njIB13VVkJgc
https://dl.doubtnut.com/l/_rVOo1jyp4d1y


Watch Video Solution

19. A circle passes through a fixed point A and cuts two perpendicular

straight lines through A in B and C. If the straight line BC passes through

a fixed-point , the locus of the centre of the circle, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(x1, y1)

+ = 1
x1

x

y1

y

x1y = x1y1

xy1 + yx1 = 2

+ = 2
x1

x

y1

y

20. The equation of the circumcircle of the triangle formed by the lines

whose combined equation is given by (x+y-4) (xy-2x-y+2)=0, is

https://dl.doubtnut.com/l/_rVOo1jyp4d1y
https://dl.doubtnut.com/l/_p4cTSb7WY6wN
https://dl.doubtnut.com/l/_uLPUAFLNnWOb


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 − 5x − 3y + 8 = 0

x2 + y2 − 3x − 5y + 8 = 0

x2 + y2 − 3x − 5y − 8 = 0

21. The equation of the circumcircle of an equilateral triangle is


and one vertex of the triangle in (1, 1). The

equation of the incircle
 of the triangle is





A. 

B. 

C. 

x2 + y2 + 2gx + 2fy + c = 0

4(x2 + y2) = g2 + f 2

4(x2 + y2) = 8gx + 8fy = (1 − g)(1 + 3g) + (1 − f)(1 + 3f)

4(x2 + y2) = 8gx + 8fy = g2 + f 2 noneofthese

4(x2 + y2) = g2 + f 2

4(x2 + y2) + 8gx + 8fy = g2 + f 2

4(x2 + y2) + 8gx + 8fy = (1 − g)(1 + 3g) + (1 − f)(1 + 3f)

https://dl.doubtnut.com/l/_uLPUAFLNnWOb
https://dl.doubtnut.com/l/_CZwxCIeF5aW7


D. none of these

Answer: C

Watch Video Solution

22. Circles are drawn through the point (3,0) to cut an intercept of length

6 units on the negative direction of the x-axis. The equation of the locus

of their centres is

A. y=0

B. y=x

C. x=0

D. y=-x

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CZwxCIeF5aW7
https://dl.doubtnut.com/l/_pG9jbXt0YLM5
https://dl.doubtnut.com/l/_tbGTcqXGBWWb


23. Find the locus of the centre of the circle
 touching the line

A. xy=0

B. x=0

C. y=0

D. none of these

Answer: A

Watch Video Solution

x + 2y = 0andx = 2y = 0.

24. The angle between  and line 

, is

A. 

B. 

C. 

x2 + y2 − 2x − 2y + 1 = 0

y = λx + 1 − λ

0∘

45∘

30∘

https://dl.doubtnut.com/l/_tbGTcqXGBWWb
https://dl.doubtnut.com/l/_Na5HMYKd5lKO


D. 

Answer: D

Watch Video Solution

90∘

25. The equation of the smallest circle passing from points (1, 1) and (2, 2)

and always in the first quadrant is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 4x − 2y + 4 = 0

x2 + y2 + 2x + 4y + 4 = 0

x2 + y2 − 3x − 3y + 4 = 0

x2 + y2 − 5x − y + 4 = 0

https://dl.doubtnut.com/l/_Na5HMYKd5lKO
https://dl.doubtnut.com/l/_dzQSjp2zUvGb


26. There are two circles whose equation are 
 and 


 If the two circles have exactly two

common tangents, then the number of
possible values of 
is
2 (b) 8
(c) 9

(d)
none of these

A. 2

B. 8

C. 9

D. none of these

Answer: C

Watch Video Solution

x2 + y2 = 9

x2 + y2 − 8x − 6y + n2 = 0, n ∈ Z.

n

27. The range of values of  for which the circles  and 

 have two common tangents, is

A. [-13/8, 13/8]

λ x2 + y2 = 4

x2 + y2 − 4λx + 9 = 0

https://dl.doubtnut.com/l/_RJyQu9A1R3Rc
https://dl.doubtnut.com/l/_a8dtN8B145Zd


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

( − ∞, − 13/8) ∪ (13/8, ∞)

(1, 13/8)

28. The circle which can be drawn to pass through (1, 0) and (3, 0) and to

touch the y-axis intersect at angle 
Then 
is equal to
 
(b) 
 (c) 


(d) 

A. 

B. 

C. 

D. 

Answer: B

θ. cos θ
1

2
−

1

2
1

4
−

1

4

1/2

−1/2

1/4

−1/4

https://dl.doubtnut.com/l/_a8dtN8B145Zd
https://dl.doubtnut.com/l/_RZgmqq2arJB7


Watch Video Solution

29. A chord of the circle  cuts it at two points A and B such

that , where O is the centre of the circle. If there is a

moving point P on this circle, then the locus of the orthocentre of

 will be a

A. parabola

B. circle

C. straight line

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = a2

∠AOB = π/2

ΔPAB

30. The lengths of the tangents from the points A and B to a circle are 

and  respectively. If points are conjugate with respect to the circle, then 

l1

l2

https://dl.doubtnut.com/l/_RZgmqq2arJB7
https://dl.doubtnut.com/l/_uf9NWMdUrXu9
https://dl.doubtnut.com/l/_gHiGuLprYQZu


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

AB2 =

l1 + l2

l21 + l22

∣∣l21 − l22∣∣

31. The locus of the centre of the circle passing through the origin O and

the points of intersection A and B of any line through (a, b) and the

coordinate axes is

A. 

B. 

C. 

+ = 1
x

a

y

b

+ = 1
a

x

b

y

+ = 2
x

a

y

b

https://dl.doubtnut.com/l/_gHiGuLprYQZu
https://dl.doubtnut.com/l/_Tnw95WUe5Pte


D. 

Answer: D

Watch Video Solution

+ = 2
a

x

b

y

32. Statement I The chord of contact of tangent from three points A, B

and C to the circle  are concurrent, then A, B and C will be

collinear. Statement II A, B and C always lie on the normal to the circle

.

A. be concyclic

B. be collinear

C. form the vertices of a triangle

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = a2

x2 + y2 = a2

https://dl.doubtnut.com/l/_Tnw95WUe5Pte
https://dl.doubtnut.com/l/_TLqztIWv0sOD


33. Find the condition that the chord of contact of tangents from the

point  to the circle  should subtend a right angle at

the centre. Hence find the locus of .

A. 2a

B. a/2

C. 

D. 

Answer: C

Watch Video Solution

(α, β) x2 + y2 = a2

(α, β)

√2a

a2

34. Consider
 a family of circles which are passing through the point


 and are tangent to x-axis. If (h, k) are the
 co-ordinates of the

centre of the circles, then the set of values of k is
given by the interval
(1)


(2) 
(3) 
(4) 

( − 1, 1)

0 < k < k ≥ ≺ = k ≤ k ≤

https://dl.doubtnut.com/l/_AmVKOlAkwJky
https://dl.doubtnut.com/l/_vUpFXeF4xRT0


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

≤ k ≤
1

2

1

2

k ≤
1

2

0 < k <
1

2

k ≥
1

2

35. A foot of the normal from the point  to a circle is  and a

diameter of the circle has the equation . Then the

equation of the circle is:

A. 

B. 

C. 

D. none of these

(4, 3) (2, 1)

2x − y − 2 = 0

x2 + y2 + 2x − 1 = 0

x2 + y2 − 2x − 1 = 0

x2 + y2 − 2y − 1 = 0

https://dl.doubtnut.com/l/_vUpFXeF4xRT0
https://dl.doubtnut.com/l/_AD6tt8BKsNAM


Answer: B

Watch Video Solution

36. A circle touches both the coordinate axes and the line

, the coordinates of the centre of the circle cannot

be

A. (a, a)

B. (a, -a)

C. (-a, a)

D. (-a, -a)

Answer: B

Watch Video Solution

x − y = √2a, a > 0

https://dl.doubtnut.com/l/_AD6tt8BKsNAM
https://dl.doubtnut.com/l/_6T1wNzYpwPyP


37. An acute triangle PQR is inscribed in the circle . If Q and

R have coordinates (3, 4) and (-4, 3) respectively, then find .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 25

∠QPR

π/2

π/3

π/4

π/6

38. If  is the intercept of the tangent to the circle 

between the coordinate axes, the locus of the vertex  of the rectangle 

 is

A. 

B. 

AB x2 + y2 = r2

P

OAPB

x2 + y2 = r2

+ =
1

x2

1

y2

1

r2

https://dl.doubtnut.com/l/_EAuCAa9V2euu
https://dl.doubtnut.com/l/_GwnLwIKcdtHp


C. 

D. none of these

Answer: B

Watch Video Solution

+ = r21

x2

1

y2

39. The locus of the foot of the normal drawn from any point  to

the family of circles , where g is a parameter, is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

P (α, β)

x2 + y2 − 2gx + c = 0

(x2 + y2 + c)(y − β) = 2(ya − xβ)x

(x2 + y2 + c)(x − β) = 2(yα − xβ)x

(x2 + y2 + c)(x − β) = 2(xα − yβ)x

https://dl.doubtnut.com/l/_GwnLwIKcdtHp
https://dl.doubtnut.com/l/_LIG7TSbY80JW
https://dl.doubtnut.com/l/_pJD1qPNFygId


40. The chords of contact of the pair of tangents drawn from each point

on the line  to the circle  pass through the point

(a,b) then 4(a+b) is

A. (1/2, 1/4)

B. (1/4, 1/2)

C. (1, 1/2)

D. (1/2, 1)

Answer: A

Watch Video Solution

2x + y = 4 x2 + y2 = 1

41. The equation of a circle  is  A circle

of radius  rolls on the outside of the circle  The locus of the centre 

has the equation

A. 

C1 x2 + y2 − 4x − 2y − 11 = 0 C2

1 C1 C2

x2 + y2 − 4x − 2y − 20 = 0

https://dl.doubtnut.com/l/_pJD1qPNFygId
https://dl.doubtnut.com/l/_PMTbMIVy0BSM


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 + 4x + 2y − 20 = 0

x2 + y2 − 3x − y − 11 = 0

42. If a chord of contact of tangents drawn from a point P with respect to

the circle  is x=2, then area, in square units, of triangle

formed by tangents drawn from P to the circle and their chord of contact

is equal to

A. 

B. 

C. 

D. none of these

x2 + y2 = 9

4√5

2

9√3

2

5√5
)

2

https://dl.doubtnut.com/l/_PMTbMIVy0BSM
https://dl.doubtnut.com/l/_KVvIfWD4n6hE


Answer: C

Watch Video Solution

43. If (a, 0) is a point on a diameter of the circle , then the

equation  has

A. exactly one root in [-1, 0]

B. exactly one root in [2, 5]

C. distinct roots greater than -1 and less than 5

D. all of these

Answer: D

Watch Video Solution

x2 + y2 = 4

x2 − 4x − a2 = 0

44. If the polar of a point  with respect to the circle 

touches the circle , then

(p, q) x2 + y2 = a2

(x − c)2 + (y − d)2 = b2

https://dl.doubtnut.com/l/_KVvIfWD4n6hE
https://dl.doubtnut.com/l/_2sTk9qlgk14B
https://dl.doubtnut.com/l/_43ABmnZeBKQL


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

b2(p2 + q2) = (a2 − cp − dq)
2

b2(p2 + q2) = (a2 − cq − dp)
2

a2(p2 + q2) = (b2 − cp − dq)
2

45. The locus of the mid-points of the chords of the circle of lines radiÃ¹s r

which subtend an angle  at any point on the circumference of the circle

is a concentric circle with radius equal to

A. 

B. 

C. 

D. 

π

4

x2 + y2 = 1

x2 + y2 =
27
4

x2 + y6(2) =
9

4

x2 + y2 =
3

2

https://dl.doubtnut.com/l/_43ABmnZeBKQL
https://dl.doubtnut.com/l/_lNU2YrGnfX7f


Answer: C

Watch Video Solution

46. If two circles and  and 

 touch each other, then

A. aC=cA

B. bC=cB

C. aB=bA

D. a A=bB=cC

Answer: B

Watch Video Solution

a(x2 + y2) + bx + cy = 0

A(x2 + y2) + Bx + Cy = 0

47. The circles  and 

 touch each other

x2 + y2 + 2x − 2y + 1 = 0

x2 + y2 − 2x − 2y + 1 = 0

https://dl.doubtnut.com/l/_lNU2YrGnfX7f
https://dl.doubtnut.com/l/_4xn1kT6WxYXr
https://dl.doubtnut.com/l/_XqDfLCQWEL4z


A. externally at (0, 1)

B. internally at (0, 1)

C. externally at (1, 0)

D. internally at (1, 0)

Answer: A

Watch Video Solution

48. The point of intersection of the common chords of three circles

described on the three sides of a triangle as diameter is

A. centroid of the triangle

B. orthocentre of the triangle

C. circumcentre of the triangle

D. incentre of the triangle

Answer: B

https://dl.doubtnut.com/l/_XqDfLCQWEL4z
https://dl.doubtnut.com/l/_V5Ds0cD5B0WC


Watch Video Solution

49. If P and Q are the points of intersection of the
 circles


 and 
 , then

there
is a circle passing
through P, Q and 
for
(1) all values of p
(2) all

except one value of p
(3) all except two values of p
(4) exactly one
value of

p

A. all values of p

B. all except one value of p

C. all except two values of p

D. exactly one value of p

Answer: A

Watch Video Solution

x2 + y2 + 3x + 7y + 2p5 = 0 x2 + y2 + 2x + 2yp2 = 0

(1, 1)

https://dl.doubtnut.com/l/_V5Ds0cD5B0WC
https://dl.doubtnut.com/l/_GmmK4B2RgzA1


50. If the chord of contact of tangents from a point 
 to a given circle

passes through 
 then the circle on 
 as diameter.
 cuts the given

circle orthogonally
 touches the given circle externally
 touches the given

circle internally
none of these

A. cuts the given circle orthogonally

B. touches the given circle externally

C. touches the given circle internally

D. none of these

Answer: A

Watch Video Solution

P

Q, PQ

51. If one of the circles  and 

 lies within the other, then

A. 

x2 + y2 + 2ax + c = 0

x2 + y2 + 2bx + c = 0

ab > 0, c > 0

https://dl.doubtnut.com/l/_OULVAOQscvBx
https://dl.doubtnut.com/l/_Xw2k5llNgZzz


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

ab > , 0, c < 0

ab < 0, c > 0

52. The chord of contact of tangents from a point 
 to a circle passes

through 
If 
are the length of the tangents from 
to the

circle, then 
 is equal to 
 (b) 
 
 (d) 

A. 

B. 

C. 

D. 

P

Q. l1andl2 PandQ

PQ
l1 + l2

2
l1 − l2

2
√l12 + l22

2√l12 + l22

l1 + l2
2

l2 − l2
2

√l21 + l22

√l21l
2
2

https://dl.doubtnut.com/l/_Xw2k5llNgZzz
https://dl.doubtnut.com/l/_QYoMJZzmzel4


Answer: C

Watch Video Solution

53. The locus of the centre of circle which cuts off an intercept of

constant length on the x-axis and which through a fixed point on the y-

axis, is

A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QYoMJZzmzel4
https://dl.doubtnut.com/l/_rc1k6JqzEBog


54. Let PQ and RS be tangents at the extremities of the diameter PR of a

circle of radius r. If PS and RQ intersect at a point X on the circumference

of the circle, then 2r equals

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√PQ × RS

√PQ × RS

2

2PQ × RS

2

√PQ2 × RS2

2

55. A circle is given by , another circle C touches it

externally and also the x-axis, then the locus of center is:

A. 

B. 

x2 + (y − 1)
2

= 1

{(x, y) : x2 = 4y} ∪ {(0, y) : y < 0}

{(x, y) : y = x2} ∪ {0, y) : y ≤ 0}

https://dl.doubtnut.com/l/_2JnsycyNuvdz
https://dl.doubtnut.com/l/_vtnvykgnfjvp


C. 

D. 

Answer: A

Watch Video Solution

{(x, y) : x2 + (y − 1)2 = 4} ∪ {90, y) : y < 0}

{(x, y) : x2 + 4y = 0} ∪ {(0, y) : y < 0}

56. A tangent to the circle  through the point (0, 5) cuts the

circle  at P and Q. If the tangents to the circle  at

P and Q meet at R, then the coordinates of R are

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 1

x2 + y2 = 4 x2 + y2 = 4

(8√6/5, 4/5)

(8√6/5), − 4/5)

( − 8√6/5), − 4/5)

https://dl.doubtnut.com/l/_vtnvykgnfjvp
https://dl.doubtnut.com/l/_8QRcqcYNSJTZ


57. If a line passes through the point  and cuts the 

at  and , then the PA+PB` is

A. 

B. 8

C. 

D. 

Answer: A

Watch Video Solution

P (1, − 2)

x2 + y2 − x − y = 0 A B max iμmof

√a

√8

2√8

58. The common chord of the circle 
 and a

circle passing through the origin and touching the line 
 always

passes through the point.
 
 (b) (1, 1)
 
 (d) none of

these

A. (-1/2, 1/2)

x2 + y2 + 6x + 8y − 7 = 0

y = x

( − , )
1

2

1

2
( , )

1

2

1

2

https://dl.doubtnut.com/l/_8QRcqcYNSJTZ
https://dl.doubtnut.com/l/_jtcaBvUezPSo
https://dl.doubtnut.com/l/_nDYtI80Fjyh1


B. (1, 1)

C. (1/2, 1/2)

D. none of these

Answer: C

Watch Video Solution

59. If the common chord of the circles  and 

 subtend a angle at the origin then  is equal to

A. 4

B. 

C. 

D. 8

Answer: C

Watch Video Solution

x2 + (y − 2)2 = 16

x2 + y2 = 16 λ

4√2

±4√2

https://dl.doubtnut.com/l/_nDYtI80Fjyh1
https://dl.doubtnut.com/l/_0IQBb0zlUAWZ


60. Two circles are given such that they neither intersect nor touch. Then

identify the locus of the center of variable circle which touches both the

circles externally.

A. a circle

B. an ellipse

C. a hyperbola

D. none of these

Answer: C

Watch Video Solution

61. Let 
be a quadrilateral with are 
, side 
parallel to the side


 . Let 
 be perpendicular to 
 . If a

circle is drawn inside the quadrilateral 
 touching all the sides,

then its radius is
 
(b) 2
(c) 
(d) 1

ABCD 18 AB

CD, andAB = 2CD AD ABandCD

ABCD

3
3

2

https://dl.doubtnut.com/l/_0IQBb0zlUAWZ
https://dl.doubtnut.com/l/_r7AxY3jHu11E
https://dl.doubtnut.com/l/_XUiBoIR38NOX


A. 3

B. 2

C. 

D. 1

Answer: B

Watch Video Solution

3/2

62. The locus of the centre of a circle touching the circle

 internally and tangents on which from

(1,2) is making a  angle with each other is a circle. then integral part of

its radius is

A. 

B. 

C. 

D. none of these

x2 + y2 − 4y − 2x = 2√3 − 1

60∘

(x − 1)2 + (y − 2)2 = 3

(x − 2)2 + (y − 1)2 = 1 + 2√3

x2 + y2 = 1

https://dl.doubtnut.com/l/_XUiBoIR38NOX
https://dl.doubtnut.com/l/_sWgbqgHJXKgF


Answer: D

Watch Video Solution

63. The equation of the locus of the middle point of a chord of the circle


 such that the pair of lines joining the origin to the

point of
 intersection of the chord and the circle are equally inclined to

the x-axis
is
 
(b) 
 
(d) none of these

A. x+y=2

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 2(x + y)

x + y = 2 x − y = 2 2x − y = 1

x − y = 2

2x − y = 1

https://dl.doubtnut.com/l/_sWgbqgHJXKgF
https://dl.doubtnut.com/l/_ZGSZzOTN1qZ4


64. The locus of the centre of the circle passing through the intersection

of the circles  and  is

A. 

B. 

C. a circle

D. a pair of lines

Answer: A

Watch Video Solution

x2 + y2 = 1 x2 + y2 − 2x + y = 0

x + 2y = 0

2x − y = 1

65. Find the equation of the smallest circle passing through the

intersection of the line 
and the circle 

A. 

B. 

C. 

x + y = 1 x2 + y2 = 9

x2 + y2 + x + y − 8 = 0

x2 + y2 − x − y − 8 = 0

x2 + y2 − x + y − 8 = 0

https://dl.doubtnut.com/l/_UfS4ht2CUUlh
https://dl.doubtnut.com/l/_ACvCXhlEKYgU


D. none of these

Answer: B

Watch Video Solution

66. , are the two concentric circles withradii

. If the tangents drawnfrom any point of , to ,

meet again , at theends of its diameter, then

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

C1 and C2

r1 and r2, (r1 < r2) C2 C1

C2

r2 = 2r1

r2 = √2r1

r2
2 < 2r2

1

https://dl.doubtnut.com/l/_ACvCXhlEKYgU
https://dl.doubtnut.com/l/_70SGpaUsq9PL
https://dl.doubtnut.com/l/_Y9a6mfVe5NoA


67. The equation of a circle is 
 Find the center of the

smallest circle touching the circle and the line


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 4.

x + y = 5√2

( , )
7

2√2

7

2√2

( , )
3

2

3

2

( − , − )
7

2√2

7

2√2

68. From a point A(1, 1) on the circle  two

equal chords AB and AC of length 2 units are drawn. The equation of

chord BC, is

A. 4x+3y-12=0

B. x+y=4

x2 + y2 − 4x − 4y + 6 = 0

https://dl.doubtnut.com/l/_Y9a6mfVe5NoA
https://dl.doubtnut.com/l/_bVWbhlSPmLsu


C. 3x+4y=4

D. x+y=6

Answer: B

Watch Video Solution

69. The members of a family of circles are given by the equation

 The number of circles

belonging to the family that are cut orthogonally by the fixed circle

 is

A. 2

B. 1

C. 0

D. none of these

Answer: A

W t h Vid S l ti

2(x2 + y2) + 2x − (1 + λ2)y − 10 = 10.

x2 + y2 + 4x + 6y + 3 = 0

https://dl.doubtnut.com/l/_bVWbhlSPmLsu
https://dl.doubtnut.com/l/_Fpge0HSKxUhB


Watch Video Solution

70. A circle C of radius 1 is inscribed in an equilateral triangle PQR. The

points of contact of C with the sides PQ, QR, RP are D, E, F, respectively.

The line PQ is given by the equation  and the point D is

(3 sqrt3/2, 3/2). Further, it is given that the origin and the centre of C are

on the same side of the line PQ. (1)The equation of circle C is (2)Points E

and F are given by (3)Equation of the sides QR, RP are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√3x + y − 6 = 0

(x − 2√3)
2

+ (y − 1)2 = 1

(x − 2√3)
2

+ (y + )
2

= 1
1
2

(x − √3)
2

+ (y + 1)2 = 1

(x − √3)
2

+ (y − 1)2 = 1

https://dl.doubtnut.com/l/_Fpge0HSKxUhB
https://dl.doubtnut.com/l/_TtdHtHXirB6P


71. If D, E and F are respectively, the mid-points of AB, AC and BC in

, then BE + AF is equal to

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

ΔABC

( , )
√3

2

3

2
(√3, 0)

( , )
√3

2

1

2
(√3, 0)

( , )
√3

2

3

2
( , )

√3

2

1

2

( , )
3

2

√3

2
( , )

√3

2

1

2

72. In example 70, equations of the sides QR and RP are respectively

A. 

B. 

C. 

y = x + 1 and y = − x − 1
2

√3

2

√3

y = and y = 0
x

√3

y = x + 1 and y = − x − 1
√3

2

√3

2

https://dl.doubtnut.com/l/_O50twv5HoK8c
https://dl.doubtnut.com/l/_03NQ0YJhLeoq


D. 

Answer: D

View Text Solution

y = √3x and y = 0

73. A point on the line x=4 from which the tangents drawn to the circle

 are at right angles, is

A. (4, 3)

B. (4, 4)

C. (4, -4)

D. none of these

Answer: A

Watch Video Solution

2(x2 + y2) = 25

https://dl.doubtnut.com/l/_03NQ0YJhLeoq
https://dl.doubtnut.com/l/_SeHAwgbDWQXX


74. The tangents PA and PB are drawn from any point P of the circle

 to the circle . The chord of contact AB on

extending meets again the first circle at the points A' and B'. The locus of

the point of intersection of tangents at A' and B' may be given as

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 2a2 x2 + y2 = a2

x2 + y2 = 8a2

x2 + y2 = 4a2

x2 + y2 = 6a2

75. Two concentric circles of which smallest is , have the

difference in radii as d, if line y=x+a cuts the circles in real points, then d

lies in the interval

x2 + y2 = 4

https://dl.doubtnut.com/l/_KdZfjgO5ndyY
https://dl.doubtnut.com/l/_gC6Qc0yWkBdc


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − ∞, − 2 − ) ∪ ( − 2 + , ∞)
1

√2

1

√2

( − 2 + , 2 + )
1

√2

1

√2

( − ∞, 1 − ) ∪ (1 + , ∞)
1

√2

1

√2

(1 − , 1 + )
1

√2

1

√2

76. If the circle  intersects the hyperbola  in four

points , , , , then which of the

following need not hold. 

(a)    


(b)    


(c)    


(d)    


A. 

x2 + y2 = a2 xy = c2

P (x1, y1) Q(x2, y2) R(x3, y3) S(x4, y4)

x1 + x2 + x3 + x4 = 0

x1x2x3x4 = y1y2y3y4 = c4

y1 + y2 + y3 + y4 = 0

x1 + y2 + x3 + y4 = 0

x1 + x2 + x3 + x4 = 01

https://dl.doubtnut.com/l/_gC6Qc0yWkBdc
https://dl.doubtnut.com/l/_3ADgjdWmcAHq


B. 

C. 

D. all of these

Answer: D

Watch Video Solution

y1 + y2 + y3 + y4 = 0

x1x2 + x3x4 = c4, y1y2y3y4 = c4

77. If two distinct chords, drawn from the point (p, q) on the circle


 (where 
 are bisected by the x-axis, then



(b) 
 
(d) 

A. 

B. 

C. 

D. 

Answer: D

x2 + y2 = px + qy pq ≠ q)

p2 = q2 p2 = 8q2 p2 < 8q2 p2 > 8q2

p2 = q2

p2 = 8q2

p2 < 8q2

p2 < 8q2

https://dl.doubtnut.com/l/_3ADgjdWmcAHq
https://dl.doubtnut.com/l/_8kWkjhiO8WXI


Watch Video Solution

78. Let 'a' and 'b' be non-zero real numbers. Then, the equation

 represents :

A. four straight lines, when c = 0 and a, b are of the same sign.

B. two straight lines and a circle, when a=b, and c is of sign opposite

to that of a .

C. two straight lines and a hyperbola, when a and b are of the same

sign and c is of sign opposite to that of a.

D. a circle and an ellipse, when a and b are of the same sign and c is of

sign opposite to that of a.

Answer: B

Watch Video Solution

(ax2 + by2 + c)(x2 − 5xy + 6y2)

https://dl.doubtnut.com/l/_8kWkjhiO8WXI
https://dl.doubtnut.com/l/_x7f0PPVS3EHG


79. If the circles 
 and points 
 , then

find the values of 
 for which the line 
 passes through 

A. exactly two values of a

B. infinitely many values of a

C. no value of a

D. exactly one value of a

Answer: C

Watch Video Solution

x2 + y2 + 2ax + cy + a = 0 PandQ

a 5x + by − a = 0

PandQ.

80. Let  be a chord of the circle  subtending a right

angle at the center. Then the locus of the centroid of the  as 

moves on the circle is
(1) A parabola (2) A circle
(3) An ellipse
(4) A pair of

straight lines

AB x2 + y2 = r2

ΔPAB P

https://dl.doubtnut.com/l/_MXlKc89RH4Wo
https://dl.doubtnut.com/l/_GU0Ow6gEwuLU


A. a parabola

B. a circle

C. an ellipse

D. a pair of straight lines.

Answer: B

Watch Video Solution

81. if  , then positive value of  for which 

 is a common tangent to  and 

 is

A. 

B. 

C. 

D. 

a > 2b > 0 m

y = mx − b√1 + m2 x2 + y2 = b2

(x − a)2 + y2 = b2

2b

√a2 − 4b2

√a2 − 4b2

2b

2b

a − 2b

b

a − 2b

https://dl.doubtnut.com/l/_GU0Ow6gEwuLU
https://dl.doubtnut.com/l/_UFWJAj1lptR1


Answer: A

Watch Video Solution

82. A circle circumscribing an equilateral triangle with centroid at 

of a side a isdrawn and a square is drawn touching its four sides to circle.

The equation ofcircle circumscribing the square is :

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(0, 0)

x2 + y2 = 2a2

3x2 + 3y2 = 2a2

5x2 + 5y2 = 3a2

https://dl.doubtnut.com/l/_UFWJAj1lptR1
https://dl.doubtnut.com/l/_eOHp1ie3CdBL


83. Consider four circles 
 . Find the equation of

the smaller circle touching these four circles.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x ± 1)2 + (y ± 1)2 = 1

(√2 − 1)a

(√2 + 1)a

(2 + √2a)

(2 − √2)a

84. 13. The radius of a circle is 20cm. Three more concentric circles are

drawn inside it in such that it is divided into four parts of equal area. The

radius of the largest of the three concentric circles is

A. 

B. 

(√2 − 1)a

(√2 + 1)a

https://dl.doubtnut.com/l/_LLr2sYZFFDma
https://dl.doubtnut.com/l/_WXPRqTsO71Vt


C. 

D. 

Answer: B

Watch Video Solution

(2 + √2)a

(2 − √2)a

85. If circles  and 

 where  are such that one

circle lies inside the other, then

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

x2 + y2 + 2x + 2y + c = 0

x2 + y2 + 2ax + 2ay + c = 0 c ∈ R+ , a ≠ 1

a ∈ (0, √ ) − {1}
c

2

a ∈ ( − √ , √ ) − {1}
c

2
c

2

a ∈ ( − √ , 0)
c

2

https://dl.doubtnut.com/l/_WXPRqTsO71Vt
https://dl.doubtnut.com/l/_FqZFCEUbyRnb


86. A circle is passing through the points A (1, 1) and B (1, 3) and the

bisector of first and third quadrant is normal to it, then its area, in square

units, is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

2π

4π

π

2

87. The equation of a circle which touches the line y = x at (1 , 1) and

having y = x -3 as a normal, is

A. 4x2 + 4y2 − 20x + 4y + 8 = 0

https://dl.doubtnut.com/l/_FqZFCEUbyRnb
https://dl.doubtnut.com/l/_fpGJIBdDaT19
https://dl.doubtnut.com/l/_GzYOTTTvFRT1


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 − 2x + 4y + 8 = 0

x2 + y2 − 10x − 4y + 8 = 0

88. The centres of a set of circles, each of radius 3, lie on the circle

. The locus of any point in the set is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 25

4 ≤ x2 + y2 ≤ 64

x2 + y2 ≤ 25

x2 + y2 ≥ 25

3 ≤ x2 + y2 ≤ 9

https://dl.doubtnut.com/l/_GzYOTTTvFRT1
https://dl.doubtnut.com/l/_yvE4pKFL0Gs2


89. If the lines 
 and 
 cut the

coordinae axes at concyclic points, then prove that 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a1x + b1y + c1 = 0 a2x + b2y + c2 = 0

|a1a2| = |b1b2|

(a1x + b1y + c1)(a2x + b2y + c2) + xy = 0

(a1x + b1y + c1)(a2x + b2y + c2) + (a1b2 + a2b1)xy = 0

(a1x + b1y + c1)(a2x + b2y + c2) − (a1b2 + a2b1)xy = 0

(a1x + b1y + c1)(a2x + b2y + c2) − (a1b2 − a2b1) = 0

90. Tangents drawn from the point  to the circle 

 touch the circle at the points A&B ifR is the

radius of circum circle of triangle PAB then [R]-

A. 

P (1, 8)

x2 + y2 − 6x − 4y − 11 = 0

x2 + y2 + 4x − 6y + 19 = 0

https://dl.doubtnut.com/l/_yvE4pKFL0Gs2
https://dl.doubtnut.com/l/_tksYT38WKLp1
https://dl.doubtnut.com/l/_YgtsiYABn5dH


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 4x − 10y + 19 = 0

x2 + y2 − 2x + 6y − 29 = 0

x2 + y2 − 6x − 4y + 19 = 0

91. A variable circle passes through the fixed  and touches the x-

axis. Show that the locus of the other end of the diameter through  is

(x-p)^2 = 4qy`.

A. 

B. 

C. 

D. 

Answer: D

A(p, q)

A

(y − q)2 = 4px

(x − q)2 = 4py

(y − p)2 = 4qx

(x − p)2 = 4qy

https://dl.doubtnut.com/l/_YgtsiYABn5dH
https://dl.doubtnut.com/l/_JmVQnF7JoXMJ


Watch Video Solution

92. The centres of two circles  each of unit radius are at a

distance of 6 unit from each other. Let P be the mid-point of the line

segment joining the centres of  and C be a circle touching

circles  externally. If a common tangent to  and C passing

through P is also a common tangent to  and C, then the radius of the

circle C, is

A. 4

B. 8

C. 6

D. 3

Answer: B

Watch Video Solution

C1 and C2

C1 and C2

C1 and C2 C1

C2

https://dl.doubtnut.com/l/_JmVQnF7JoXMJ
https://dl.doubtnut.com/l/_EZFOxo12UgGa


93. Three distinct points A, B and C are given in the 2â€“dimensional

coordinate plane such that the ratio of the distance of any one of them

from the point (1, 0) to the distance from the point (â€“1, 0) is equal to 

.Then the circumcentre of the triangle ABC is at the point :

A. (0, 0)

B. (5/4, 0)

C. (5/2, 0)

D. (5/3, 0)

Answer: B

Watch Video Solution

1

3

94. In , equation of side BC is x+y-6=0, also the circumcentre and

orhtocentre are (3, 1) and (2, 2) respectively, then the equation of the

circumcircle of  is

ΔABC

ΔABC

https://dl.doubtnut.com/l/_J0raUovrs7bV
https://dl.doubtnut.com/l/_7eHOXSuc22IA


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 6x − 2y + 10 = 0

x2 + y2 − 6x − 2y = 0

x2 + y2 − 2x − 3y − 10 = 0

x2 + y2 − 2x − 3y = 0

95. The locus of the middle point of the chord of contact of tangents

drawn from points lying on the straight line 4x - 5y = 20 to the circle

 is

A. 

B. 

C. 

D. 

x2 + y2 = 9

20(x2 + y6(2)) − 36x + 45y = 0

20(x2 + y2) + 36x − 45y = 0

36(x2 + y2) − 20x + 45y = 0

36(x2 + y2) + 20x − 45y = 0

https://dl.doubtnut.com/l/_7eHOXSuc22IA
https://dl.doubtnut.com/l/_2UmOh6sYtnyB


Answer: A

Watch Video Solution

96. A tangent PT is drawn to the circle  at the point 

. A straight line L is perpendicular to PT is a tangent to the circle


Common tangent of two circle is: (A)  (B) 

(C)  (D) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = 4 P(√3, 1)

(x − 3)2 + y2 = 1 x = 4 y = 2

x + (√3)y = 4 x + 2(√2)y = 6

x − √3y = 1

x + √3y = 1

x − √3y = − 1

x + √3y = 5

https://dl.doubtnut.com/l/_2UmOh6sYtnyB
https://dl.doubtnut.com/l/_d4soIdLpEXZr


97. A common tangent to the circles  and ,

is

A. x=4

B. y=2

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 = 4 (x − 3)2 + y2 = 1

x + √3y = 4

x + 2√2y = 6

98. If the line y=mx +1 meets the circle  in two points

equidistant and on opposite sides of x-axis, then

A. 3m-2=0

B. 2m+3=0

C. 3m+2=0

x2 + y2 + 3x = 0

https://dl.doubtnut.com/l/_CsaB1jSnIev3
https://dl.doubtnut.com/l/_wTGU6uZxHQ5N


D. 2m-3=0

Answer: B

Watch Video Solution

99. If three distinct point A, B, C are given in the 2-dimensional coordinate

plane such that the ratio of the distance of each one of them from the

point (1, 0) to the distance from (-1, 0) is equal to , then the

circumcentre of the triangle ABC is at the point :

A. (3, 0)

B. (5/3, 0)

C. (1/3, 0)

D. (0, 0)

Answer: B

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_wTGU6uZxHQ5N
https://dl.doubtnut.com/l/_3e646p4ziPFL


100. The common tangents to the circle  and the parabola 

 touch the circle at  andthe parabola at . Then area of

quadrilateral  is

A. 3

B. 6

C. 9

D. 15

Answer: D

Watch Video Solution

x2 + y2 = 2

y2 = 8x P , Q R, S

PQRS

101. Tangents  are drawn to the circle  from any

arbitrary point P on the line . The locus of mid-point of chord

of contact AB is

A. 

PA and PB x2 + y2 = 8

x + y = 4

x2 + y2 + 2x + 2y = 0

https://dl.doubtnut.com/l/_ev6d3XPnA6WD
https://dl.doubtnut.com/l/_QXuTmcq3AzZa


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 2x − 2y = 0

x2 + y2 − 2x + 2y = 0

x2 + y2 + 2x − 2y = 0

102. Given two circles  and 

. Let the radius of the third circle, which

touches the two given circles and to their common diameter, be 

The value of  is

A. 10

B. 8

C. 7

D. 5

x2 + y2 + 3√2(x + y) = 0

x2 + y2 + 5√2(x + y) = 0

2λ − 1

λ

λ

https://dl.doubtnut.com/l/_QXuTmcq3AzZa
https://dl.doubtnut.com/l/_3Jsul3qVxClD


Answer: B

Watch Video Solution

103. Let RS be the diameter of the circle  where S is the

point  Let P be a variable apoint (other than ) on the circle

and tangents to the circle at  meet at the point Q.The normal to

the circle at P intersects a line drawn through Q parallel to RS at point E.

then the locus of E passes through the point(s)- (A)  (B) 

 (C)  (D) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 1,

(1, 0) R and S

S and P

( , )
1

3

1

√3

( , )
1

4

1

2
( , − )

1

3

1

√3
( , − )

1

4

1

2

y2 = 2x

y2 = 1 − 2x

2x = y2 − 1

y2 = 1 − x

https://dl.doubtnut.com/l/_3Jsul3qVxClD
https://dl.doubtnut.com/l/_ardkqB1gjX2S


Watch Video Solution

104. The circle , with cenre at O, intersects the parabola 

 at the point P in the first quadrant. Let the tangent to the circle 

 at P touches other two circles  and  at  and  respectively.

Suppose  and  have equal radii  and centres  and 

respectively. If  and  lie on the y-axis, then 

A. 3

B. 6

C. 9

D. 12

Answer: D

Watch Video Solution

C1 : x2 + y2 = 3

x2 = 2y

C1 C2 C3 R2 R3

C2 C3 2√3 Q2 Q3

Q2 Q3 Q2Q3 =

105. In example 104, R2R3 =

https://dl.doubtnut.com/l/_ardkqB1gjX2S
https://dl.doubtnut.com/l/_wi9BEUWg74Cf
https://dl.doubtnut.com/l/_QmMAIcEV78ay


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

4√6

2√6

3√6

6√6

106. In example 104, area of , in square units, is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

ΔOR2R3

2√6

3√6

6√2

6√3

https://dl.doubtnut.com/l/_QmMAIcEV78ay
https://dl.doubtnut.com/l/_6iBawSS0Glr5


107. In example 104, area of , in square units is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ΔPQ2Q3

6√2

4√2

8√2

3√2

108. For how many values of p, the circle  and

the coordinate axes have exactly three common points?

A. 1

B. 2

C. 3

x2 + y2 + 2x + 4y − p = 0

https://dl.doubtnut.com/l/_6iBawSS0Glr5
https://dl.doubtnut.com/l/_GWMlDGjxA96J
https://dl.doubtnut.com/l/_YQaInXQx8WpJ


Section-I (Solved MCQs)

D. 4

Answer: B

Watch Video Solution

1. If one of the diameters of the circle, given by the equation,


 , is a chord of a circle S, whose centre is at 


, then the radius of S is :
(1) 
(2) 
(3) 5
(4) 10

A. 

B. 5

C. 10

D. 

Answer: A

W t h Vid S l ti

x2 + y2 − 4x + 6y − 12 = 0

( − 3, 2) 5√2 5√3

5√3

5√2

https://dl.doubtnut.com/l/_YQaInXQx8WpJ
https://dl.doubtnut.com/l/_63tmjQoIUPWV


Section II - Assertion Reason Type

Watch Video Solution

1. Tangents are drawn from the point (17, 7) to the circle ,

Statement I The tangents are mutually perpendicular Statement, lls The

locus of the points frorn which mutually perpendicular tangents can be

drawn to the given circle is  (a) Statement I is correct,

Statement II is correct; Statement II is a correct explanation for

Statementl (b( Statement I is correct, Statement I| is correct Statement II

is not a correct explanation for Statementl (c)Statement I is correct,

Statement II is incorrect (d) Statement I is incorrect, Statement II is

correct

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

x2 + y2 = 169

x2 + y2 = 338

https://dl.doubtnut.com/l/_63tmjQoIUPWV
https://dl.doubtnut.com/l/_rSEiWB6BW91G


C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

2. Consider:
 
 
 where 

is a real number
 and 
 Statement 1 : If

line 
 is a chord of circle 
 then line 
 is not always a diameter of

circle 
Statement 2 : If line 
is a a diameter of circle 
then line 
 is

not a chord of circle 
Both the statement are True and Statement 2 is

the correct explanation
of Statement 1. Both the statement are True but

Statement 2 is not the correct
explanation of Statement 1.
Statement 1 is

True and Statement 2 is False.
 Statement 1 is False and Statement 2 is

True.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

L1 : 2x + 3y + p − 3 = 0 L2 : 2x + 3y + p + 3 = 0 p

C : x2 + y2 + 6x − 10y + 30 = 0

L1 C, L2

C. L1 C, L2

C.

https://dl.doubtnut.com/l/_rSEiWB6BW91G
https://dl.doubtnut.com/l/_5FafiaaIbjwa


B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: C

Watch Video Solution

3. Consider three circles  and  as given below: 

 


 


 


Statement-1: If the circle  intersects  orthogonally , then  does not

represent a circle. 

Statement-2: If the circle  intersects  orthogonally, then  and 

have equal radii.

C1, C2 C3

C1 : x2 + y2 + 2x − 2y + p = 0

C2 : x2 + y2 − 2x + 2y − p = 0

C3 : x2 + y2 = p2

C3 C1 C2

C3 C2 C2 C3

https://dl.doubtnut.com/l/_5FafiaaIbjwa
https://dl.doubtnut.com/l/_12Tm7bx6QRB2


A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

Watch Video Solution

4. Statement-1: The equation  represents a circle

with centre (2, 2) passing through the origin. 

Statement-2: The equation  represents a

point.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

x2 − y2 − 4x − 4y = 0

x2 + y2 + 4x + 6y + 13 = 0

https://dl.doubtnut.com/l/_12Tm7bx6QRB2
https://dl.doubtnut.com/l/_3X2dOODfqpPg


B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

Watch Video Solution

5. Statement-1: If limiting points of a family of co-axial system of circles

are (1, 1) and (3, 3), then  is a member of this

family passing through the origin. 

Statement-2: Limiting points of a family of coaxial circles are the centres

of the circles with zero radius.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

2x2 + 2y2 − 3x − 3y = 0

https://dl.doubtnut.com/l/_3X2dOODfqpPg
https://dl.doubtnut.com/l/_9mPJk8iSyLW3


B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

6. Statement-1: The equation of a circle through the origin and belonging

to the coaxial system, of which limiting points are (1, 1) and (3, 3) is

 


Statement-2: The equation of a circle passing through the points (1, 1)

and (3, 3) is .

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

2x2 + 2y2 − 3x − 3y = 0

2x2 + y2 − 2x − 6y + 6 = 0

https://dl.doubtnut.com/l/_9mPJk8iSyLW3
https://dl.doubtnut.com/l/_6byDWaCKrJW6


B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

7. Statement-1: The common chord of the circles  is of

maximum length if . 


Statement-2: The common chord of two circles is of maximum length if it

passes through the centre of the circle with smaller radius.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

x2 + y2 = r2

r2 = 34

https://dl.doubtnut.com/l/_6byDWaCKrJW6
https://dl.doubtnut.com/l/_21ZwFySL8xWQ


C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

8. Statement-1: The line  is the chord of contact of

tangents drawn from a point P to the circle

. 


Statement-2: The line segment joining the points of contacts of the

tangents drawn from an external point P to a circle is the chord of

contact of tangents drawn from P with respect to the given circle

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

x + 9y − 12 = 0

2x2 + 2y2 − 3x + 5y − 7 = 0

https://dl.doubtnut.com/l/_21ZwFySL8xWQ
https://dl.doubtnut.com/l/_kO3IvTUi6dk6


C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

Watch Video Solution

9. Statement-1: The centre of the circle passing through the points (0, 0),

(1, 0) and touching the circle  lies inside the circle. 


Statement-2: If a circle  passes through the centre of the circle  and

also touches the circle, the radius of the circle  is twice the radius of

circle 

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

C : x2 + y2 = 9

C1 C2

C2

C1

https://dl.doubtnut.com/l/_kO3IvTUi6dk6
https://dl.doubtnut.com/l/_56bBl6RZd09N


D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

10. Statement-1: The equation  represents the

combined equation of a straight line and a circle. 

Statement-2: The equation of the straight line contained in

 is 

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

x3 + y3 + 3xy = 1

x3 + y3 + 3xy = 1 x + y = 1

https://dl.doubtnut.com/l/_56bBl6RZd09N
https://dl.doubtnut.com/l/_BRBo8j0l1GPW


Answer: D

Watch Video Solution

11. The common tangents to the circles

 form a triangle which is

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

x2 + y2 + 2x = 0 and x2 + y2 − 6x = 0

https://dl.doubtnut.com/l/_BRBo8j0l1GPW
https://dl.doubtnut.com/l/_6HRgrr0eJ0Ol
https://dl.doubtnut.com/l/_X2qmVV7fP6gN


Exercise

12. Prove that the length of the tangents drawn from an external point to

a circle are equal.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

1. The centre of the circle passing through the points

 is(h, 0), (k.0), (0, h), (0, k)

https://dl.doubtnut.com/l/_X2qmVV7fP6gN
https://dl.doubtnut.com/l/_YHqMq1lfqBqz


A. (a, b)

B. (a/2, b/2)

C. (-a/2, -b/2)

D. (-a, -b)

Answer: B

Watch Video Solution

2. The circle  cuts an intercept on y-axis

equal to

A. 3

B. 4

C. 7

D. 1

Answer: D

x2 + y2 + 4x − 7y + 12 = 0

https://dl.doubtnut.com/l/_YHqMq1lfqBqz
https://dl.doubtnut.com/l/_Zu603jfT15k7


Watch Video Solution

3. A square is inscribed in the circle  Its sides

are parallel to the co-ordinate axes, then one vertex of the square is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

x2 + y2 − 2x + 4y + 3 = 0

(1 + √2, − 2)

(1 − √2, − 2)

(1, − 2 + √2)

4. If the circle  cuts off a chord of length  from the line 

, then

A. 

x2 + y2 = a2 2b

y = mx + c

√a2(a + m2) < c

https://dl.doubtnut.com/l/_Zu603jfT15k7
https://dl.doubtnut.com/l/_0YwUqsFlakkA
https://dl.doubtnut.com/l/_WMwz0BTowXoi


B. 

C. 

D. 

Answer: C

Watch Video Solution

√a2(1 − m2) < c

√a2(a + m2) > c

√a2(1 − m2) > c

5. The area of the circle centred at (1,2) and passing through (4,6) is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

5π

10π

25π

https://dl.doubtnut.com/l/_WMwz0BTowXoi
https://dl.doubtnut.com/l/_Xnqxg3BCpEO7
https://dl.doubtnut.com/l/_S3RfhW9mx9RR


6. For the equation 

 where , to represent a

circle, the condition will be

A. a=b and c=0

B. f=g and h=0

C. a=b and h=0

D. f=g and c=0

Answer: C

Watch Video Solution

ax2 + by2 + 2hxy + 2gx + 2fy + c = 0 a ≠ 0

7. The equation of the circle passing through (4, 5) having the centre (2,

2), is

A. 

B. 

x2 + y2 + 4x + 4y − 5 = 0

x2 + y2 − 4x − 4y − 5 = 0

https://dl.doubtnut.com/l/_S3RfhW9mx9RR
https://dl.doubtnut.com/l/_GvCQ8e4EaYn3


C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 4x − 13 = 0

x2 + y2 − 4x − 4y + 5 = 0

8. Locus of centre of a circle of radius  which rolls on the outside of

circle  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

2,

x2 + y2 + 3x − 6y − 9 = 0

x2 + y2 + 3x − 6y + 5 = 0

x2 + y2 + 3x − 6y − 31 = 0

x2 + y2 + 3x − 6y + = 0
29

4

https://dl.doubtnut.com/l/_GvCQ8e4EaYn3
https://dl.doubtnut.com/l/_gRLBykp9zDjV
https://dl.doubtnut.com/l/_3hsQto8qSpJs


9. Four distinct points (2k,3k) , (1,0), (0,1) and (0,0) lies on a circle for-

A. all integral values of k

B. 

C. 

D. for two values of k

Answer: D

Watch Video Solution

0 < k < 1

k < 0

10. A square is inscribed in the circle 
 with

its sides parallel to the coordinate axes. The coordinates of its
 vertices

are


A. (-6, -9), (-6, 5), (8, -9), (8, 5)

x2 + y2 − 2x + 4y − 93 = 0

( − 6, − 9), ( − 6, 5), (8, − 9), (8, 5)

( − 6, − 9), ( − 6, − 5), (8, − 9), (8, 5)

( − 6, − 9), ( − 6, 5), (8, 9), (8, 5)

( − 6, − 9), ( − 6, 5), (8, − 9), (8, − 5)

https://dl.doubtnut.com/l/_3hsQto8qSpJs
https://dl.doubtnut.com/l/_gTMNd4h1hCIB


B. (-6, 9), (-6, -5), (8, -9), (8, 5)

C. (-6, -9), (-6, 5), (8, 9), (8, 5)

D. (-6, -9), (-6, 5), (8, -9), (8, -5)

Answer: A

Watch Video Solution

11. A line is drawn through a fix point P( ) to cut the circle 

 at A and B. Then PA.PB is equal to :

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

α, β

x2 + y2 = r2

(α + β)2 − r2

α2 + β2 − r2

(α − β)2 + r2

https://dl.doubtnut.com/l/_gTMNd4h1hCIB
https://dl.doubtnut.com/l/_9VsYjw4ch4Fc


12. The equation of circles passing through  touching both the

axes is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(3, − 6)

x2 + y2 − 6x + 6y + 9 = 0

x2 + y2 + 6x − 6y + 9 = 0

x2 + y2 + 30x − 30y + 225 = 0

x2 + y2 + 30x + 30y + 225 = 0

13. The centre of a circle passing through the points (0, 0), (1, 0) and

touching the circle , is

A. (3/2, 1/2)

B. (1/2, 3/2)

x2 + y2 = 9

https://dl.doubtnut.com/l/_9VsYjw4ch4Fc
https://dl.doubtnut.com/l/_2Q3kXFVcSAY3
https://dl.doubtnut.com/l/_xmMDNWf3N1kf


C. (1/2, 1/2)

D. (1/2, )

Answer: D

Watch Video Solution

−√2

14. If  and  are parallel tangents to circle,

then radius of the circle, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x − 4y = 9 6x − 12y + 7 = 0

√3

5

17

6√5

√2

3

17

3√5

https://dl.doubtnut.com/l/_xmMDNWf3N1kf
https://dl.doubtnut.com/l/_IaF6zKxJ4D33
https://dl.doubtnut.com/l/_XJmO8XiCGa4X


15. One of the diameters of the circle  is

given by

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 12x + 4y + 6 = 0

x + y = 0

x + 3y = 0

x = y

3x + 2y = 0

16. The length of
 the chord cut off by 
 from the
 circle 


is
 
b. 
c. 
d. 

A. 

B. 

C. 

y = 2x + 1

x2 + y2 = 2
5

6

6

5

6

√5

√5

6

5/6

6/5

6/√5

https://dl.doubtnut.com/l/_XJmO8XiCGa4X
https://dl.doubtnut.com/l/_aJix2vaNKIBP


D. 

Answer: C

Watch Video Solution

√5/6

17. Area of the circle in which a chord of length  makes an angle at

the centre,

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√2
π

2

π/2

2π

π

π/4

https://dl.doubtnut.com/l/_aJix2vaNKIBP
https://dl.doubtnut.com/l/_xbzrJLI5JmH5


18. The coordinates of the middle point of the chord cut-off by


 by the circle 
 are


(b) 
(c) 
(d) 

A. (1, 4)

B. (2, 4)

C. (4, 1)

D. (1, 1)

Answer: A

Watch Video Solution

2x − 5y + 18 = 0 x2 + y2 − 6x + 2y − 54 = 0 (1, 4)

(2, 4) (4, 1) (1, 1)

19. Find the equation of the circle which passes through the points


and whose center lies on the line 

A. 

B. 

(1, − 2), (4, − 3) 3x + 4y = 7.

x2 + y2 − 94x + 18y + 55 = 0

15x2 + 15y2 − 94x + 18y + 55 = 0

https://dl.doubtnut.com/l/_j6fFD8rHfJSN
https://dl.doubtnut.com/l/_Yk11MHC4n6vv


C. 

D. 

Answer: B

Watch Video Solution

15x2 + 15y2 + 94x + 18y + 55 = 0

x2 + y2 − 94x − 18y + 55 = 0

20. If the lines 0 and  are two diameters

of a circle of area  square units, the equation of the circle is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x − 4y − 7 = 2x − 3y − 5 = 0

49π

x2 + y2 + 2x − 2y − 62 = 0

x2 + y2 − 2x + 2y − 62 = 0

x2 + y2 − 2x + 2y − 47 = 0

x2 + y2 + 2x − 2y − 47 = 0

https://dl.doubtnut.com/l/_Yk11MHC4n6vv
https://dl.doubtnut.com/l/_K1NTnx7gxTht
https://dl.doubtnut.com/l/_FoqJOQVOSuZP


21. Equation of the circle with centre on the y-axis and passing through

the origin and (2, 3) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 13y = 0

3x2 + 3y2 − 13y = 0

x2 + y2 + 13x + 3 = 0

6x2 + 6y2 − 13x = 0

22. If the lines 
 and 
 cut the

coordinae axes at concyclic points, then prove that 

A. 

B. 

C. 

a1x + b1y + c1 = 0 a2x + b2y + c2 = 0

|a1a2| = |b1b2|

|a1a2| = |b1b2|

|a1b1| = |a2b2|

|a1b2| = |a2b1|

https://dl.doubtnut.com/l/_FoqJOQVOSuZP
https://dl.doubtnut.com/l/_6RMs4Jw9aDSy


D. none of these

Answer: A

Watch Video Solution

23. If a circle passes through the points of intersection of the coordinate

axes with the lines  and , then the value

of  is............

A. 2, 1/3

B. 1/3, 1

C. 6

D. 3

Answer: A

Watch Video Solution

λx − y + 1 = 0 x − 2y + 3 = 0

λ

https://dl.doubtnut.com/l/_6RMs4Jw9aDSy
https://dl.doubtnut.com/l/_xBxYih5iexJY
https://dl.doubtnut.com/l/_5rrGmTnw1BJF


24.  is a square in first quadrant whose side is a, taking 

 as axes, prove that the equation to the circle

circumscribing the square is .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ABCD

AB and AD

x2 + y2 = a(x + y)

x2 + y2 + ax + ay = 0

x2 + y2 + ax − ay = 0

x2 + y2 − ax − ay = 0

x2 + y2 − ax + ay = 0

25. If the points (2, 0), (0, 1), (4, 5)and (0, c) are concyclic, then the value of

c, is

A. 1

B. 14/3

https://dl.doubtnut.com/l/_5rrGmTnw1BJF
https://dl.doubtnut.com/l/_qeYq1A5xf5X9


C. 5

D. none of these

Answer: B

Watch Video Solution

26. Find the point of intersection of the following pairs of lines:

A. A, B, C, D are concyclic

B. A, B, C, D from a parallelogram

C. A, B, C, D form a rhombus

D. none of these

Answer: A

Watch Video Solution

bx + ay = ab and bx + by = ab.

https://dl.doubtnut.com/l/_qeYq1A5xf5X9
https://dl.doubtnut.com/l/_L5R6KIVUS0ly
https://dl.doubtnut.com/l/_O6I6aHAcKyWI


27. Two perpendicular tangents to the circle  meet at P.

Then the locus of P has the equation

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = a2

x2 + y2 − 2a2

x2 + y2 = 3a2

x2 + y2 = 4a2

28. The equation of tangents drawn from the origin to the circle

A. x=0, y=0

B. 

C. 

x2 + y2 − 2rx − 2hy + h2 = 0

y = 0, (h2 − r2)x − 2rhy = 0

x = 0, (h2 − r2)x − 2rhy = 0

https://dl.doubtnut.com/l/_O6I6aHAcKyWI
https://dl.doubtnut.com/l/_93FZ5E33QlWw


D. 

Answer: C

Watch Video Solution

x = 0, (h2 − r2)x + 2rhy = 0

29. If from any point  on the circle ,

tangents are drawn to the circle

, then the angle

between the tangents is : 

(A)  

(B)  

(C)  


(D) 

A. 

B. 

C. 

D. none of these

P x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 2gx + 2fy + c sin2 α + (g2 + f 2)cos2 α = 0

α

2α

α

2
α

3

α

2α

α/2

https://dl.doubtnut.com/l/_93FZ5E33QlWw
https://dl.doubtnut.com/l/_KmtkiSUMf5UP


Answer: B

Watch Video Solution

30. If the equation of a given circle is 
 then the length of

the chord which lies along the
 line 
 is
 
 2. 
 3. 


4. none
of these

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 = 36,

3x + 4y − 15 = 0 3√6 2√3

6√3

3√6

2√3

6√3

https://dl.doubtnut.com/l/_KmtkiSUMf5UP
https://dl.doubtnut.com/l/_sTZOFQwAdicZ


31. Find the angle which the common chord of 
 and 


subtends at the origin.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 4x = 0

x2 + y2 = 16

π

6

π

4

π

3

π

2

32. Show that the equation of the circle passing through (1, 1) and the

points of intersection of the circles 
 and 


is 

A. 

B. 

x2 + y2 + 13x − 13y = 0

2x2 + 2y2 + 4x − 7y − 25 = 0 4x2 + 4y2 + 30x − 13y − 25 = 0.

4x2 + 4y2 − 30x − 10y − 25 = 0

4x2 + 4y2 + 30x − 13y − 25 = 0

https://dl.doubtnut.com/l/_k5UXlwZiiru4
https://dl.doubtnut.com/l/_mxLJzWXVxpGe


C. 

D. none of these

Answer: B

Watch Video Solution

4x2 + 4y2 − 17x − 10y + 25 = 0

33. The tangents to 
having inclinations 
and 
intersect at

.
If 
, then find the locus of 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 = a2 α β

P cot α + cot β = 0 P

x + y = 0

x − y = 0

xy = 0

https://dl.doubtnut.com/l/_mxLJzWXVxpGe
https://dl.doubtnut.com/l/_NQROB6z6Uofg
https://dl.doubtnut.com/l/_qs7M4E8P7iWU


34. Equation of a circle with centre(4,3) touching the circle 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 = 1

x2 + y2 − 8x − 6y − 9 = 0

x2 + y2 − 8x − 6y + 11 = 0

x2 + y2 − 8x − 6y − 11 = 0, x2 + y2 − 8x − 6y + 9 = 0

35. Find the number of common
tangents that can be drawn to the circles


and 

A. 1

B. 2

C. 3

D. 4

x2 + y2 − 4x − 6y − 3 = 0 x2 + y2 + 2x + 2y + 1 = 0

https://dl.doubtnut.com/l/_qs7M4E8P7iWU
https://dl.doubtnut.com/l/_nnmAnKPqUMHY


Answer: C

Watch Video Solution

36. If 
 is a tangent to a circle whose center is 
 , then

find the equation of the other tangent to the circle from the
origin.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x + y = 0 (2, − 1)

x − 3y = 0

x + 3y = 0

3x − y = 0

2x + y = 0

37. Find the condition if the circle whose equations are


 and 
 touch one anotherx2 + y2 + c2 = 2ax x2 + y2 + c2 − 2by = 0

https://dl.doubtnut.com/l/_nnmAnKPqUMHY
https://dl.doubtnut.com/l/_PkNwpjhWNhG3
https://dl.doubtnut.com/l/_bBbV3MEPWnc9


externally.

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

+ =
1

b2

1

c2

1

a2

+ =
1

c2

1

a2

1

b2

+ =
1

a2

1

b2

1

c2

38. The distance between the chords of contact of tangents to the circle

 from the origin & the point (g,f) is

A. 

B. 

C. 

D. 

x2 + y2 + 2gx + 2fy + c = 0

g2 + f 2

(g2 + f 2 + c)
1

2

g2 + f 2 + c

2√g2 + f 2

g2 + f 2 − c

2√g2 + f 2

https://dl.doubtnut.com/l/_bBbV3MEPWnc9
https://dl.doubtnut.com/l/_jsUWIhWVnWeU


Answer: D

Watch Video Solution

39. The condition that the chord 
 of 


may subtend a right angle at the center of the circle is



(b) 
 
(d) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x cosα + y sinα = p = 0

x2 + y2 − a2 = 0

a2 = 2p2 p2 = 2a2 a = 2p c2 = a2(2m + 1

a2 = 2p2

p2 = 2a2

a = 2p

p = 2a

https://dl.doubtnut.com/l/_jsUWIhWVnWeU
https://dl.doubtnut.com/l/_zACoGE2gMEso


40. The locus of the centres of the circles which touch  and

`x^2+y^2=4ax, externally

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = a2

12(x − a)2 − 4y2 = 3a2

9(x − a)2 − 5y2 = 2a2

8x2 − 3(y − a)2 = 9a2

41. Let 
 be a point on the circle 
 a point on the line 


 , and the perpendicular bisector of 
 be the line 


 . Then the coordinates of 
 are
 
 (b) 


(d) 

A. (3, 0)

P x2 + y2 = 9, Q

7x + y + 3 = 0 PQ

x − y + 1 = 0 P (0, − 3) (0, 3)

( , )
72
25

21

35
( − , )

72
25

21

25

https://dl.doubtnut.com/l/_baFwqDirLySU
https://dl.doubtnut.com/l/_3BV9oGQwTgHO


B. (0, 3)

C. (72/25, -21/25)

D. (-72/25, -21/25)

Answer: A

Watch Video Solution

42. Two lines through  from which the circle 

intercepts chords of length  units have equations 

(A) ,  


(B) ,  


(C) ,  


(D) , 

A. 

B. 

C. 

(2, 3) x2 + y2 = 25

8

2x + 3y = 13 x + 5y = 17

y = 3 12x + 5y = 39

x = 2 9x − 11y = 51

y = 0 12x + 5y = 39

2x + 3y = 13, x + 5y = 17

y = 3, 12x + 5y = 39

x = 2, 9x − 11y = 51

https://dl.doubtnut.com/l/_3BV9oGQwTgHO
https://dl.doubtnut.com/l/_STKfaTw0I41R


D. none of these

Answer: B

Watch Video Solution

43. A line meets the coordinate axes at 
and 
. A circle is circumscribed

about the triangle 
If 
are distances of the tangents to the

circle at the origin 
 from the points 
 , respectively, then the

diameter of the circle is
 
(b) 
 
(d) 

A. m(m+n)

B. n(m+n)

C. m-n

D. none of these

Answer: D

Watch Video Solution

A B

OAB. d1andd2

O AandB

2d1 + d2

2
d1 + 2d2

2
d1 + d2

d1d2

d1 + d2

https://dl.doubtnut.com/l/_STKfaTw0I41R
https://dl.doubtnut.com/l/_l0hL89mOQIUs


44. Find the co-ordinate of the point on the circle

, which is farthest from the origin.

A. (9, 3)

B. (8, 5)

C. (12, 4)

D. none of these

Answer: A

Watch Video Solution

x2 + y2 − 12x − 4y + 30 = 0

45. If the angle of intersection of the circle 
 and 


is 
, then the equation of the line passing through

(1, 2) and making an
angle 
with the y-axis is
 
 (b) 


(d) 

A. 

x2 + y2 + x + y = 0

x2 + y2 + x − y = 0 θ

θ x = 1 y = 2 x + y = 3

x − y = 3

π/6

https://dl.doubtnut.com/l/_27Ms8UbIUfKx
https://dl.doubtnut.com/l/_5gmgs1lGKwME


B. 

C. 

D. 

Answer: D

Watch Video Solution

π/4

π/3

π/2

46. Find the equation of the circle whose radius is 
 which touches

the circle 
externally at the point 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5and

x2 + y2 − 2x − 4y − 20 = 0 (5, 5).

(x2 + y2) + 18x + 16y + 120 = 0

(x2 + y2) + 18x − 16y + 120 = 0

(x2 + y2) − 18x + 16y + 120 = 0

(x2 + y2) − 18x − 16y + 120 = 0

https://dl.doubtnut.com/l/_5gmgs1lGKwME
https://dl.doubtnut.com/l/_j2KulU8BOWH9


47. 
 is a diameter of a
 circle and 
 is any point on the
 circle. Show

that the area of 
is maximum, when it is
isosceles.

A. the area of  is maximum when it is isosceles

B. the area of  is minimum when it is isosceles

C. the perimeter of  is maximum when it is isosceles

D. none of these

Answer: A

Watch Video Solution

AB C

ABC

ΔABC

ΔABC

ΔABC

48. The locus of the mid point of a chord of the circle  which

subtends a right angle at the origin is

A. 

B. 

x2 + y2 = 4

x + y = 2

x2 + y2 = 1

https://dl.doubtnut.com/l/_j2KulU8BOWH9
https://dl.doubtnut.com/l/_rz1kDP2yERZI
https://dl.doubtnut.com/l/_k5M5Uks0iSFh


C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 2

x + y = 1

49. The point of which the line  is the chord of contact

of the circle  is

A. (3, 1)

B. (1, 3)

C. (3, -1)

D. (-3, 1)

Answer: C

Watch Video Solution

9x + y − 28 = 0

2x2 + 2y2 − 3x + 5y − 7 = 0

https://dl.doubtnut.com/l/_k5M5Uks0iSFh
https://dl.doubtnut.com/l/_mqcTRZVAJTx2
https://dl.doubtnut.com/l/_C5v3Ys8BKhMv


50. If the tangents are drawn to the circle 
 at the point

where it meets the circle 
 then find the

point of intersection of these tangents.

A. (6, -6)

B. (6, 18/5)

C. (6, -18/5)

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 12

x2 + y2 − 5x + 3y − 2 = 0,

51. If the straight line  intersects the circle 

at points P and Q, then find the coordinates of the point of intersection

of the tangents drawn at P and Q to the circle .

A. (25, 50)

x − 2y + 1 = 0 x2 + y2 = 25

x2 + y2 = 25

https://dl.doubtnut.com/l/_C5v3Ys8BKhMv
https://dl.doubtnut.com/l/_LPeSMoDJ2u5h


B. (-25, -50)

C. (-25, 50)

D. (25, -50)

Answer: C

Watch Video Solution

52. If the chord of contact of the tangents drawn from the point 
to

the circle 
subtends a right angle at the center, then prove

that 

A. 

B. 

C. 

D. 

Answer: D

(h, k)

x2 + y2 = a2

h2 + k2 = 2a2.

h2 + k2 = a2

2(h2 + k2) = a2

h2 − k2 = a2

h2 + k2 = 2a2

https://dl.doubtnut.com/l/_LPeSMoDJ2u5h
https://dl.doubtnut.com/l/_hxbVo2Lnqkpc


Watch Video Solution

53. Find the equation of the circle which cuts the three circles


 and


orthogonally.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 3x − 6y + 14 = 0, x2 + y2 − x − 4y + 8 = 0,

x2 + y2 + 2x − 6y + 9 = 0

x2 + y2 − 2x − 4y + 1 = 0

x2 + y2 + 2x + 4y + 1 = 0

x2 + y2 − 2x + 4y + 1 = 0

x2 + y2 − 2x − 4y − 1 = 0

54. The equation of the circle which passes through  and has the

radical axis  withthe circie  is

(2a, 0)

2x − a = 0 x2 + y2 − a2 = 0

https://dl.doubtnut.com/l/_hxbVo2Lnqkpc
https://dl.doubtnut.com/l/_Rd26BILgHoEO
https://dl.doubtnut.com/l/_XkgKdwQZE5Ug


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − ax = 0

x2 + y2 + 2ax = 0

x2 + y2 − 2ax = 0

x2 + y2 + ax = 0

55. If the circle 
 bisects the circumference

of the circle 
 then prove that


A. 

B. 

C. 

D. 

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 2g ′x + 2f ′y + c ′ = 0

2g ′ (g − g ′ ) + 2f ′ (f − f ′ ) = c − c'

2g(g − g' ) + 2f(f − f' ) = c − c'

2g(g − g' ) + 2f' (f − f' ) = c' − c

2g' (g − g' ) + 2f' (f − f' ) = c − c'

2g(g − g' ) + 2f(f − f' ) = c' − c

https://dl.doubtnut.com/l/_XkgKdwQZE5Ug
https://dl.doubtnut.com/l/_FQ8x20jwnkzD


Answer: C

Watch Video Solution

56. If the pole of a straight line with respect to the circle 

lies on the circle , then the straight line touches the circle

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = a2

x2 + y2 = 9a2

9a2 = r2

9r2 = a2

r2 = a2

57. Find the equation of the chord of the circle 
 whose

middle point is 

x2 + y2 = 9

(1, − 2)

https://dl.doubtnut.com/l/_FQ8x20jwnkzD
https://dl.doubtnut.com/l/_qSvPPAvppqck
https://dl.doubtnut.com/l/_WYpqF3ytVFHB


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − 2y = 9

x − 2y − 2 = 0

x − 2y − 5 = 0

x − 2y + 5 = 0

58. Locus of the mid points of the chords of the circle 

which pass through the fixed point 
 is








A. 

B. 

C. 

D. 

x2 + y2 = a2

(h, k) x2 + y2 + 2hx + 2ky = 0

x2 + y2 − 2hx − 2ky = 0 x2 + y2 + hx + ky = 0

x2 + y2 − hx − ky = 0 x2 + y2 + hx − ky = 0

x2 + y2 − hx − ky = 0

x2 + y2 + hx + ky = 0

x2 + y2 − 2hx − 2ky = 0

x2 + y2 + 2hx + 2ky = 0

https://dl.doubtnut.com/l/_WYpqF3ytVFHB
https://dl.doubtnut.com/l/_81DL6IOmCHlg


Answer: A

Watch Video Solution

59. If the circles  and 

touch each other, then

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(x − a)2 + (y − b)2 = c2 (x − b)2 + (y − a)2 = c2

a = b ± 2c

a = b ± √2c

a = b ± c

60. The equation of the image of the circle

 by the line mirror  is :x2 + y2 + 16x − 24y + 183 = 0 4x + 7y + 13 = 0

https://dl.doubtnut.com/l/_81DL6IOmCHlg
https://dl.doubtnut.com/l/_xd44EssEiRbH
https://dl.doubtnut.com/l/_7vLrpASeytqj


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 32x − 4y + 235 = 0

x2 + y2 + 32x + 4y − 235 = 0

x2 + y2 + 32x − 4y − 235 = 0

x2 + y2 + 32x + 4y + 235 = 0

61. The number of the tangents that can be drawn from (1, 2) to

, is

A. 1

B. 2

C. 3

D. 0

Answer: A

x2 + y2 = 5

https://dl.doubtnut.com/l/_7vLrpASeytqj
https://dl.doubtnut.com/l/_rx0dMxQRrW0P


Watch Video Solution

62. Equation of the circle through the origin and making intercepts of 3

and 4 on the positive sides of the axes is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 3x + 4y = 0

x2 + y2 − 3x − 4y = 0

x2 + y2 + 3x − 4y = 0

x2 + y2 − 3x + 4y = 0

63. If  is the chord of the circle , find the

equation of the circle with this chord as diameter.

A. y=2

y = 2x x2 + y2 − 4x = 0

https://dl.doubtnut.com/l/_rx0dMxQRrW0P
https://dl.doubtnut.com/l/_EsCADL2hQW3S
https://dl.doubtnut.com/l/_kcgvWGJ6PJEN


B. y=1

C. x=2

D. x=1

Answer: D

Watch Video Solution

64. The tangent to  which is parallel to y-axis and does not lie

in the third quadrant touchers the circle at the point

A. (3, 0)

B. (-3, 0)

C. (0, 3)

D. (0, -3)

Answer: A

Watch Video Solution

x2 + y2 = 9

https://dl.doubtnut.com/l/_kcgvWGJ6PJEN
https://dl.doubtnut.com/l/_opuvBSCX60vD


65. The two circles  and 

A. touch each other externally

B. touch each other internally

C. cut each other orthogonally

D. do not intersect

Answer: B

Watch Video Solution

x2 + y2 − 5 = 0 x2 + y2 − 2x − 4y − 15 = 0

66. If the circle 
 cuts 


 at 
 , then find the equation of the

circle on 
as diameter.

A. 

B. 

x2 + y2 + 2x + 3y + 1 = 0

x2 + y2 + 4x + 3y + 2 = 0 AandB

AB

x2 + y2 + x + 3y + 3 = 0

2x2 + 2y2 + 2x + 6y + 1 = 0

https://dl.doubtnut.com/l/_opuvBSCX60vD
https://dl.doubtnut.com/l/_dActdvWMLUNR
https://dl.doubtnut.com/l/_XrNJSS1lzk0t


C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 + x + 6y + 1 = 0

67. The circle  cuts the circle  at the

points A and B. If the circle  passes through A and

B then the value of k , is

A. -4

B. 0

C. -8

D. 4

Answer: D

Watch Video Solution

x2 + y2 = 4 x2 + y2 − 2x − 4 = 0

x2 + y2 − 4x − k = 0

https://dl.doubtnut.com/l/_XrNJSS1lzk0t
https://dl.doubtnut.com/l/_oZOMkzxqaRUZ


68. If the circle 
 is touched by 
 at 

such that 
then the value of 
 is
36 (b) 144
(c) 72 (d)
none of

these

A. 36

B. 144

C. 72

D. none of these

Answer: C

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0 y = x P

OP = 6√2, c

69. The number of common tangents of the circles 

and , is

A. 1

x2 + y2 + 4x + 1 = 0

x2 + y2 − 2y − 7 = 0

https://dl.doubtnut.com/l/_oZOMkzxqaRUZ
https://dl.doubtnut.com/l/_WP3OX16WZyp7
https://dl.doubtnut.com/l/_HI18qbo2LAjx


B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

70. The length of the common chord of the circles 

and , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 − 2x − 1 = 0

x2 + y2 + 4y − 1 = 0

√15/2

√15

2√15

https://dl.doubtnut.com/l/_HI18qbo2LAjx
https://dl.doubtnut.com/l/_Dv7z949SWWcY


71. If a circle passes through the point  and cuts the circle 

 orthogonally, then the locus of its centre is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(a, b)

x2 + y2 = 4

2x + 4y − 9 = 0

2x + 4y + 9 = 0

2x − 4y + 9 = 0

72. If the lines 
 are tangents to a

circle, then find the radius of the
circle.

A. 

B. 

3x − 4y + 4 = 0adn6x − 8y − 7 = 0

1/4

1/2

https://dl.doubtnut.com/l/_Dv7z949SWWcY
https://dl.doubtnut.com/l/_PhtpYQnxjEH2
https://dl.doubtnut.com/l/_KSzFVhqxu8CO


C. 

D. none of these

Answer: C

Watch Video Solution

3/4

73. Coordinates of the centre of the circle which bisects the

circumferences of the circles  and 

 is

A. )-2, 1)

B. (-2, -1)

C. (2, -1)

D. (2, 1)

Answer: B

Watch Video Solution

x2 + y2 = 1; x2 + y2 + 2x − 3 = 0

x2 + y2 + 2y − 3 = 0

https://dl.doubtnut.com/l/_KSzFVhqxu8CO
https://dl.doubtnut.com/l/_dVcQeRRnaHUu


74. One of the diameter of a circle circumscribing the rectangle ABCD is

, If A and B are the points  and  respectively,

then the area of rectangle is

A. 16

B. 24

C. 32

D. none of these

Answer: C

Watch Video Solution

4y = x + 7 ( − 3, 4) (5, 4)

75. The points of contact of tangents to the circle  which

are inclined at an angle of  to the x-axis are

A. 

x2 + y2 = 25

30∘

( ± 5/2, ± 1/2)

https://dl.doubtnut.com/l/_dVcQeRRnaHUu
https://dl.doubtnut.com/l/_3hZyYEYqJFnD
https://dl.doubtnut.com/l/_cLgLp1bcyoA3


B. 

C. 

D. none of these

Answer: D

Watch Video Solution

( ± 1/2, ± 5/2)

( ± 5/2, ± 1/2)

76. If (m_i,1/m_i),i=1,2,3,4 are concyclic points then the value of

 is

A. 1

B. -1

C. 0

D. none of these

Answer: A

Watch Video Solution

m1m2m3m4

https://dl.doubtnut.com/l/_cLgLp1bcyoA3
https://dl.doubtnut.com/l/_oA1mDOrbq59s


77. Find the area of the triangle formed by the tangents from the point

(4,
 3) to the circle 
 and the line joining their points of

contact.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 9

25

192

192

25

384
25

78. The tangent at , any point on the circle  , meets the

coordinate axes in and , then

A. length of AB is not constant

P x2 + y2 = 4

A B

https://dl.doubtnut.com/l/_oA1mDOrbq59s
https://dl.doubtnut.com/l/_dXrcXMfKhl5m
https://dl.doubtnut.com/l/_EHycfLMqsLaN


B. PA and PB are always equal

C. the locus of the mid-point of AB is 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 = x2y2

79. The equation of the circle which touches the axes of coordinates and

the line 
 and whose center lies in the first quadrant is 


, where 
is
(a) 1 (b)
2 (c) 3 (d) 6

A. 1, 6

B. 2, 1

C. 3, 6

D. 6, 4

Answer: A

+ = 1
x

3

y

4

x2 + y2 − 2cx − 2cy + c2 = 0 c

https://dl.doubtnut.com/l/_EHycfLMqsLaN
https://dl.doubtnut.com/l/_1tuO0Cb7i9wG


Watch Video Solution

80. If the chord of contact of the tangents from a point on the circle

 to the circle  touch the circle ,

then the roots of the equation  are necessarily. (A)

imaginary (B) real and equal (C) real and unequal (D) rational

A. imaginary

B. real and equal

C. real and unequal

D. rational

Answer: B

Watch Video Solution

x2 + y2 = a2 x2 + y2 = b2 x2 + y2 = c2

ax2 + 2bx + c = 0

81. If from the origin a chord is drawn to the circle ,

then the locus of the mid point of the chord has equation

x2 + y2 − 2x = 0

https://dl.doubtnut.com/l/_1tuO0Cb7i9wG
https://dl.doubtnut.com/l/_HmZZktAAzFR5
https://dl.doubtnut.com/l/_L4VHYgvY3reo


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + x + y = 0

x2 + y2 + 2x + y = 0

x2 + y2 − x = 0

x2 + y2 − 2x + y = 0

82. The locus represented by  is

A. an ellipse

B. a circle

C. a pair of lines

D. none of these

Answer: D

Watch Video Solution

x = (t + ), y = (t − )
a

2

1

t

a

2

1

t

https://dl.doubtnut.com/l/_L4VHYgvY3reo
https://dl.doubtnut.com/l/_5YuRpKZuKxaT


83. If the circle  intersects another circle  of radius 

in such a manner that,the common chord is of maximum length and has a

slope equal to , then the co-ordinates of the centre of  are:

A. (-9/5, 12/5), (9/5, -12/5)

B. (-9/5, -12/5), (9/5, 12/5)

C. (12/5, -9/5), (-12/5, 9/5)

D. none of these

Answer: A

Watch Video Solution

C1 : x2 + y2 = 16 C2 5

3

4
C2

84. Find the locus of the midpoint of the chord of the circle


, which makes an angle of 
at the center.

A. 

x2 + y2 − 2x − 2y = 0 1200

x2 + y2 − 2x − 2y + 1 = 0

https://dl.doubtnut.com/l/_5YuRpKZuKxaT
https://dl.doubtnut.com/l/_aVzAzyOGdG7a
https://dl.doubtnut.com/l/_sTDITt7Qpeze


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 + x + y − 1 = 0

x2 + y2 − 2x − 2y − 1 = 0

85. The two circles  and 

 are such that

A. they touch each other

B. they intersect each other

C. one lies inside the other

D. each lies outside the other

Answer: B

Watch Video Solution

x2 + y2 − 2x − 3 = 0

x2 + y2 − 4x − 6y − 8 = 0

https://dl.doubtnut.com/l/_sTDITt7Qpeze
https://dl.doubtnut.com/l/_Q5mTo7StXWbW


86. The equation of the circle having its centre on the line


 and passing through the points of intersection of the

circles 
 is



 
 c.




A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + 2y − 3 = 0

x2 + y2 − 2x − 4y + 1 = 0andx2 + y2 − 4x − 2y + 4 = 0

x2 + y2 − 6x + 7 = 0 x2 + y2 − 3y + 4 = 0

x2 + y2 − 2x − 2y + 1 = 0 x2 + y2 + 2x − 4y + 4 = 0

x2 + y2 − 6x + 7 = 0

x2 + y2 − 3x + 4 = 0

x2 + y2 − 2x − 2y + 1 = 0

x2 + y2 + 2x − 4y + 4 = 0

87. The equation of the circumcircle of the triangle formed by the lines

 and , is-y + √3x = 6, y − √3x = 6 y = 0

https://dl.doubtnut.com/l/_Q5mTo7StXWbW
https://dl.doubtnut.com/l/_WbfIM4n1okY2
https://dl.doubtnut.com/l/_qs2xBRG4C2wV


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 4y = 0

x2 + y2 + 4x = 0

x2 + y2 − 4y − 12 = 0

x2 + y2 + 4x = 12

88. The equation  represents

A. a circle

B. a pair of two straight lines

C. a pair of coincident straight lines

D. a point

Answer: D

Watch Video Solution

x2 + y2 + 4x + 6y + 13 = 0

https://dl.doubtnut.com/l/_qs2xBRG4C2wV
https://dl.doubtnut.com/l/_iFAcTaHT0Wtr


89. To which of the circles, the line  is normal at the point 

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y − x + 3 = 0

(3 + 3√2, 3√2)

(x − 3 − )

2

+ (y − )

2

= 9
3

√2

3

√2

(x − )

2

+ (y − )

2

= 9
3

√2

3

√2

x2 + (y − 3)2 = 9

(x − 3)2 + y2 = 9

90. Circles are drawn through the point (2, 0) to cut intercept of length 5

units on the x-axis. If their centers lie in the first quadrant, then find
their

equation.

A. x2 + y2 − 9x + 2ky + 14 = 0

https://dl.doubtnut.com/l/_iFAcTaHT0Wtr
https://dl.doubtnut.com/l/_bTkwvieYluVs
https://dl.doubtnut.com/l/_dhiH5cH2QUx9


B. 

C. 

D. 

Answer: C

Watch Video Solution

3x2 + 3y2 + 27x − 2ky + 42 = 0

x2 + y2 − 9x − 2ky + 14 = 0

x2 + y2 − 2kx − 9y + 14 = 0

91. Find the equation of the circle which touches both the axes and the

straight line 
in the first quadrant and lies below it.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x + 3y = 6

4x2 + 4y2 − 4x − 4y + 1 = 0

x2 + y2 − 6x − 6y + 9 = 0

x2 + y2 − 6x − y + 9 = 0

4(x2 + y2 − x − 6y) + 1 = 0

https://dl.doubtnut.com/l/_dhiH5cH2QUx9
https://dl.doubtnut.com/l/_JP7ghXe2DQ1k


92. The slope of the tangent at the point (h, h) of the circle ,

is

A. 0

B. 1

C. -1

D. depends on h

Answer: C

Watch Video Solution

x2 + y2 = a2

93. The two circles  and  intersect

at two distinct points. Then

A. 

B. 

x2 + y2 = r2 x2 + y2 − 10x + 16 = 0

r < 2

r > 8

https://dl.doubtnut.com/l/_JP7ghXe2DQ1k
https://dl.doubtnut.com/l/_KAAbNXaMxfU6
https://dl.doubtnut.com/l/_J5KcZNaMoFh2


C. 

D. 

Answer: C

Watch Video Solution

2 < r < 8

2 ≤ r ≤ 8

94. Locus of thews of the centre of the circle which touches

 externally and also y-axis is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 6x − 6y + 14 = 0

x2 − 6x − 10y + 14 = 0

x2 − 10x − 6y + 14 = 0

y2 − 6x − 10y + 14 = 0

y2 − 10x − 6y + 14 = 0

https://dl.doubtnut.com/l/_J5KcZNaMoFh2
https://dl.doubtnut.com/l/_GvOYocVC4V8k
https://dl.doubtnut.com/l/_K0pRvVNxbaZ0


95. If a circle passes through the point  and cuts the circlex 

 equation of the locus of its centre is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(a, b)

x2 + y2 = p2

2ax + 2by − (a2 + b2 + p2) = 0

2ax + 2by − (a2 − b2 + p2) = 0

x2 + y2 − 3ax − 4by + (a2 + b2 − p2) = 0

x2 + y2 − 2ax − 3by + (a2 − b2 − p2) = 0

96. The locus of the mid-point of the chords of the
 circle 

which subtends a right angle at the origin is
 
2. 




A. 

B. 

x2 + y2 = 4

x + y = 2 x2 + y2 = 1

x2 + y2 = 2 x + y = 1

x + y = 2

x2 + y2 = 1

https://dl.doubtnut.com/l/_K0pRvVNxbaZ0
https://dl.doubtnut.com/l/_2YDUiQEyrRDw


C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 2

x + y = 1

97. Two circle 
and 
are given. Then the

equation of the circle through their points of
 intersection and the point

(1, 1) is
 



none of these

A. 

B. 

C. 

D. none of these

Answer: B

W t h Vid S l ti

x2 + y2 = 6 x2 + y2 − 6x + 8 = 0

x2 + y2 − 6x + 4 = 0 x2 + y2 − 3x + 1 = 0

x2 + y2 − 4y + 2 = 0

x2 + y2 − 6x + 4 = 0

x2 + y2 − 3x + 1 = 0

x2 + y2 − 4y + 2 = 0

https://dl.doubtnut.com/l/_2YDUiQEyrRDw
https://dl.doubtnut.com/l/_fRbLxC02Im54


Watch Video Solution

98. The equation of the circle described on the common chord of the

circles  and  as diameter, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 2x = 0 x2 + y2 + 2y = 0

x2 + y2 + x − y = 0

x2 + y2 − x − y = 0

x2 + y2 − x + y = 0

x2 + y2 + x + y = 0

99. Origin is a limiting point of a coaxial system of which

 is a member. The other limiting point, is

A. (-2, -4)

x2 + y2 − 6x − 8y + 1 = 0

https://dl.doubtnut.com/l/_fRbLxC02Im54
https://dl.doubtnut.com/l/_mBaczdBWoNtF
https://dl.doubtnut.com/l/_58BvjGgn4vkn


B. (3/25, 4/25)

C. (-3/25, -4/25)

D. (4/25, 3/25)

Answer: B

Watch Video Solution

100. A circle passes through the origin and has its center on 
 If it

cuts 
orthogonally, then find the equation

of the circle.

A. 

B. 

C. 

D. 

Answer: C

y = x

x2 + y2 − 4x − 6y + 10 = −

x2 + y2 − x − y = 0

x2 + y2 − 6x − 4y = 0

x2 + y2 − 2x − 2y = 0

x2 + y2 + 2x + 2y = 0

https://dl.doubtnut.com/l/_58BvjGgn4vkn
https://dl.doubtnut.com/l/_SbhwDXd4MENr


Watch Video Solution

101. The number of common tangents to the circles

 are

A. 2

B. 1

C. 4

D. 3

Answer: D

Watch Video Solution

x2 + y2 − x = 0 and x2 + y2 + x = 0

102. Consider the circles 
 They

are such that
 these circles touch each other
 one of these circles lies

entirely inside the other
each of these circles lies outside the other
they

intersect at two points.

x2 + (y − 1)2 = 9, (x − 1)2 + y2 = 25.

https://dl.doubtnut.com/l/_SbhwDXd4MENr
https://dl.doubtnut.com/l/_ZbXARxroqbNt
https://dl.doubtnut.com/l/_ORH6SYFWGuSv


A. these circles touch each other

B. one of these circles lies entirely inside the other

C. each of these circles lies outside the other

D. they intersect in two point

Answer: B

Watch Video Solution

103. A circle touches the -axis and also touches the circle with center

 and radius . The locus of the center

A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: B

x

(0, 3) 2

https://dl.doubtnut.com/l/_ORH6SYFWGuSv
https://dl.doubtnut.com/l/_mKosEWFLj509


Watch Video Solution

104. The circles  and 

A. touch externally

B. touch internally

C. intersect in two points

D. do not intersect

Answer: C

Watch Video Solution

x2 + y2 − 4x − 6y − 12 = 0

x2 + y2 + 4x + 6y + 4 = 0

105. Write the equation of the unit circle concentric with

A. 

x2 + y2 − 8x + 4y − 8 = 0.

x2 + y2 − 8x + 4y − 8 = 0

https://dl.doubtnut.com/l/_mKosEWFLj509
https://dl.doubtnut.com/l/_dGW6UapfagD4
https://dl.doubtnut.com/l/_KZi2TnK9niJA


B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 8x + 4y + 8 = 0

x2 + y2 − 8x + 4y − 28 = 0

x2 + y2 − 8x + 4y + 19 = 0

106. The point  being any real number, die inside the circle 

 if

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(sin θ, cos θ). θ

x2 + y2 − 2x − 2y + λ = 0

λ < 1 + 2√2

λ > 2√2 − 1

λ < − 1 − 2√2

λ > 1 + 2√2

https://dl.doubtnut.com/l/_KZi2TnK9niJA
https://dl.doubtnut.com/l/_e5MrjZH2KMX6


107. The range of values of  for which  is on

interior point of the circle , is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

θ ∈ [0, 2π] (1 + cos θ, sin θ)

x2 + y2 = 1

(π/6, 5π/6)

(2pu/3, 5π/3)

(π/6, 7π/6)

(2π/3, 4π/3)

108. The range of values of a for which the point (a, 4) is outside the

circles  and , is

A. 

B. (-8, -2)

x2 + y2 + 10x = 0 x2 + y2 − 12x + 20 = 0

( − ∞, − 8) ∪ ( − 2, 6) ∪ (6, ∞)

https://dl.doubtnut.com/l/_e5MrjZH2KMX6
https://dl.doubtnut.com/l/_36RZugdHkDGt
https://dl.doubtnut.com/l/_npfh60AuPvuQ


C. 

D. none of these

Answer: D

Watch Video Solution

( − ∞, − 2) ∪ ( − 2, ∞)

109. IF  is a point on the chord PQ of the circle , where

the coordinates of P and Q are (3, -4) and (4, 3) respectively, then

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(α, β) x2 + y2 = 25

3 ≤ α ≤ 4 and − 4 ≤ β ≤ 3

−4 ≤ α ≤ 3 and 3 ≤ β ≤ 4

α3 and − 4 ≤ β ≤ 4

https://dl.doubtnut.com/l/_npfh60AuPvuQ
https://dl.doubtnut.com/l/_wnKpLcvghg98
https://dl.doubtnut.com/l/_XTuVlSCEvHNt


110. If the point 
 lies inside the region bounded by the curve 


and 
then 
belongs to the interval
 
 (b) 


(c) 
(d) none of these

A. (-4, 3)

B. 

C. (-1, 3)

D. none of these

Answer: C

Watch Video Solution

(λ, λ + 1)

x = √25 + y2 y − aξs, λ ( − 1, 3)

( − 4, 3) ( − ∞, − 4) ∪ (3, ∞)

( − ∞, − 1) ∪ (3, ∞)

111. The range of values of r for which the point

 is an interior point of the major segment

segment of the circle , cut off by the line , is:

A. 

( − 5 + , − 3 + )
r

√2

r

√2

x2 + y2 = 16 x + y = 2

λ ∈ ( − ∞, 5√2)

https://dl.doubtnut.com/l/_XTuVlSCEvHNt
https://dl.doubtnut.com/l/_SgxB6jUgLoMD


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

λ ∈ (4√2 − √14, 5√2)

λ ∈ (4√2 − √14, 4√2 + √14)

112. The abscissa of the two points A and B are the roots of the equation


 and their ordinates are the roots of the equation 


Find the equation of the circle with AB as diameter.

Also, find its
radius.

A. 

B. 

C. 

D. 

x2 + 2ax − b2 = 0

x2 + 2px − q2 = 0.

√a2 + p2

√b2 + q2

√a2 + b2

√a2 + b2 + p2 + q2

https://dl.doubtnut.com/l/_SgxB6jUgLoMD
https://dl.doubtnut.com/l/_04nQOUytD9nJ


Answer: D

Watch Video Solution

113. Three sided of a triangle have equations


 Then 

where 
is the equation of the circumcircle of the triangle if


none of these

A. 

B. 

C. both (a) and (b) hold together

D. none of these

Answer: C

Watch Video Solution

L1 ≡ y − mix = o; i = 1, 2and3. L1L2 + λL2L3 + μL3L1 = 0

λ ≠ 0, μ ≠ 0,

1 + λ + μ = m1m2 + λm2m3 + λm3m1

m1(1 + μ) + m2(1 + λ) + m3(μ + λ) = 0

+ + = 1 + λ + μ
1

m3

1

m1

1

m1

λ(m2 + m3) + μ(m3 + m1) + v(m1 + m2) = 0

λ(m2m3 − 1) + μ(m3m1 − 1) + v(m1m2 − 1) = 0

https://dl.doubtnut.com/l/_04nQOUytD9nJ
https://dl.doubtnut.com/l/_SZ6WsgJOlZik


114. if  is a chord of a circle of radius  and the diameter of the

circle lies along -axis and one end of this chord in origin .The equation

of the circle described on this chord as diameter is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y = mx a

x

(1 + m2)(x2 + y2) − 2a(x + my) = 0

(1 − m2)(x2 + y2) − 2a(x + my) = 0

(1 + m2)(x2 + y2) + 2a(x + my) = 0

115. 18. The straight lines joining the origin to the points of intersection

of the line  with the curve 

A. are coincident

4x + 3y = 24 (x − 3)2 + (y − 4)2 = 25:

https://dl.doubtnut.com/l/_SZ6WsgJOlZik
https://dl.doubtnut.com/l/_6OQFeqCNJJWl
https://dl.doubtnut.com/l/_nDoyVXePegvI


B. are perpendicular

C. make equal angles with x-axis

D. none of these

Answer: B

Watch Video Solution

116. Find the locus of the point of intersection of tangents to the circle

 at the points whose parametric angles differ by 

A. 

B. 

C. 

D. none of these

Answer: B

x = a cos θ, y = a sin θ

(i) ,
π

3

x2y2 = r2

2

x2 + y2 = 2r2

x2 + y2 = 4r2

https://dl.doubtnut.com/l/_nDoyVXePegvI
https://dl.doubtnut.com/l/_GOPPSm3V0uII


Watch Video Solution

117. If the chord of contact of tangents from a point  to the circle

 touches the circle , then the locus of

 is

A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: B

Watch Video Solution

(x1, y1)

x2 + y2 = a2 (x − a)2 + y2 = a2

(x1, y1)

118. The circle  with centre  and radius  touches externally

the circle  with centre  and radius  If the tangent at their

common point passes through the origin, then

S1 C1(a1, b1) r1

S2 C2(a2, b2) r2

https://dl.doubtnut.com/l/_GOPPSm3V0uII
https://dl.doubtnut.com/l/_xC5NB3yxB96j
https://dl.doubtnut.com/l/_MdIk0evZhCEi


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(a2
1 + a2

2) + (b2
1 + b2

2) = r2
1 + r2

2

(a2
1 − a2

2) + (b2
1 − b2

2) = r2
1 − r2

2

(a2
1 − b2

1) + (a2
2 + b2

2) = r2
1 + r2

2

(a2
1 − b2

1) + (a2
2 + b2

2) = r2
1 + r2

2

119. Two vertices of an equilateral triangle are 
and (1, 0), and its

third vertex lies above the x-axis. The equation of
 its circumcircel is

____________

A. 

B. 

C. 

D. none of these

( − 1, 0)

x2 + y2 − y − 1 = 0
1

√3

x2 + y2 + y − 1 = 0
2

√3

x2 + y2 − y − 1 = 0
2

√3

https://dl.doubtnut.com/l/_MdIk0evZhCEi
https://dl.doubtnut.com/l/_RNnmGfyfjpSO


Answer: C

Watch Video Solution

120. If the sum of the coefficient in the expansion of 

vanishes, then find the value of

A. outside

B. inside

C. on side

D. cannot be decided

Answer: A

Watch Video Solution

(α2x2 − 2αx + 1)
51

α

121. Tangents , are drawn from a point P to the circle 

. If the point P line , then the locus of the

PT1, and PT2

x2 + y2 = a2 Px + qy + r = 0

https://dl.doubtnut.com/l/_RNnmGfyfjpSO
https://dl.doubtnut.com/l/_A8kWMblSIhM8
https://dl.doubtnut.com/l/_kFdRHmJUe3fu


centre of circumcircle of the triangle  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

PT1T2

px + qy = r/2

2px + 2py + r = 0

px + qy = r

(x − p)2 + (y − q)2 = r2

122. The value of  in  so that circle 

 always lies inside the

square of unit side length, is/are

A. 

B. 

C. 

θ [0, 2π]

x2 + y2 + 2(sinα)x + 2(cosα)y + sin2 θ = 0

(π/3, 2π/3)

[4π/3, 5π/3]

(π/4, 2π/3)

https://dl.doubtnut.com/l/_kFdRHmJUe3fu
https://dl.doubtnut.com/l/_mBWZrjpfg4dh


D. none of these

Answer: D

Watch Video Solution

123. The value of  in  so that 

 having intercept on x-axis always

greater than 2, is/are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α [0, 2π]

x2 + y2 + 2√sinαx + (cosα − 1) = 0

(π/4, 3π/2)

(π/4, (3π) /4

(π/4, 5π/4)

[0, π]

https://dl.doubtnut.com/l/_mBWZrjpfg4dh
https://dl.doubtnut.com/l/_28hrtMGFjzXG
https://dl.doubtnut.com/l/_hk2275KBAzoB


124. If in a  (whose circumcentre is at the origin),  , then

for any point  insidethe circumcircle of , we have

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

ΔABC a ≤ sinA

(x, y) ΔABC

|xy| < 1/8

|xy| > 1/8

1/8 < xy < 1/2

125. If P is a point such that the ratio of the squares of the lengths of the

tangents from P to the circles  and 

 is 2:3, then the locus of P is a circle with

centre

A. (7, -8)

B. (-7, 8)

x2 + y2 + 2x − 2y − 20 = 0

x2 + y2 − 4x + 2y − 44 = 0

https://dl.doubtnut.com/l/_hk2275KBAzoB
https://dl.doubtnut.com/l/_FPU9VTTVCx4h


C. (7, 8)

D. (-7, -8)

Answer: B

Watch Video Solution

126. If  is a sequence of circles such that  is the

director circle of . If the radius of  is 'a', then the area bounded by

the circles  and , is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

C1, C2, C3, ... Cn+ 1

Cn C1

Cn Cn+ 1

2nπa2

22n−nπa2

2n− 1πa2

https://dl.doubtnut.com/l/_FPU9VTTVCx4h
https://dl.doubtnut.com/l/_0ND7txwoDZoE


127. If 
 are the radii of the smallest and the largest circles,

respectively,
 which pass though (5, 6) and touch the circle


then 
is
 
(b) 
 
(d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

r1andr2

(x − 2)2 + y2 = 4, r1r2
4
41

41
4

5

41
41
6

4
41

41
4

5

41

41
6

128. The radical centre of three circles described on the three sides

 and  of a triangle as

diameter, is

A. (4, 4)

x + y = 5, 2x + y = − 9 = 0 x − 2y + 3 = 0

https://dl.doubtnut.com/l/_0ND7txwoDZoE
https://dl.doubtnut.com/l/_sAbJDUotC0ek
https://dl.doubtnut.com/l/_4JRvFADbrOiF


B. (3, 3)

C. (3, 4)

D. (4,1)

Answer: B

Watch Video Solution

129. If 
is the angle between the two radii (one to each circle) drawn from

one
 of the point of intersection of two circles 
 and 


then prove that the length of the common chord of

the two circles is 

A. 

B. 

C. 

D. 

θ

x2 + y2 = a2

(x − c)2 + y2 = b2,

2ab sin θ

√a2 + b2 − 2ab cos θ

ab

√a2 + b2 − 2ab cos θ

2ab

√a2 + b2 − 2ab cos θ

2ab sin θ

√a2 + b2 − 2ab cos θ

2ab cos θ

√a2 + b2 − 2ab cos θ

https://dl.doubtnut.com/l/_4JRvFADbrOiF
https://dl.doubtnut.com/l/_DhVL2ay3z2LA


Answer: C

Watch Video Solution

130. The number of rational point(s) [a point (a, b) is called rational, if


both are rational numbers] on the circumference of a circle having

center 
is
at most one
(b) at least two
exactly two
(d) infinite

A. an most one

B. at least two

C. exactly two

D. infinite

Answer: A

Watch Video Solution

aandb

(π, e)

https://dl.doubtnut.com/l/_DhVL2ay3z2LA
https://dl.doubtnut.com/l/_fMK1S48ZB8On


131. The point  (where [.] denotes the greatest integer

function), lyinginside the region bounded by the circle

 then :

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

(
P + 1

P
)

x2 + y2 − 2x − 15 = 0 and x2 + y2 − 2x − 7 = 0,

a ∈ [ − 1, 0] ∪ (0, 1) ∪ [1, 2]

a ∈ [ − 1, 2] − {0, 1}

a ∈ ( − 1, 2)

132. The circles

 cut orthogonally, if

A. an ellipse

ax2 + ay2 + 2g1x + 2f1y + c1 = 0  and bx2 + by2 + 2g2x + 2f2y + c2 =

(a ≠ 0 and b ≠ 0)

https://dl.doubtnut.com/l/_26wiFwl9y8EN
https://dl.doubtnut.com/l/_hifyhFnNkftQ


Chapter Test

B. the radical axis of the given circles

C. a conic

D. another circle

Answer: B

Watch Video Solution

1. The two circles

 touch

eachother. The equation of their common tangent is

A. 

B. 

C. 

D. 

x2 + y2 − 2x + 6y + 6 = 0 and x2 + y2 − 5x + 6y + 15 = 0

x = 3

y = 6

7x − 12y − 21 = 0

7x + 12y + 21 = 0

https://dl.doubtnut.com/l/_hifyhFnNkftQ
https://dl.doubtnut.com/l/_x07KK21SJVpJ


Answer: A

Watch Video Solution

2. The two circles  and 

A. touch externally

B. touch internally

C. cut each other orthogonally

D. do not cut each other

Answer: C

Watch Video Solution

x2 + y2 − 2x − 2y − 7 = 0

3(x2 + y2) − 8x + 29y = 0

3. The centre of the circle passing through (0, 0) and (1, 0) and touching

the circle , isx2 + y2 = 9

https://dl.doubtnut.com/l/_x07KK21SJVpJ
https://dl.doubtnut.com/l/_IV8xTZzDq9Xs
https://dl.doubtnut.com/l/_tfCUoPj4j5k4


A. (3/2, 1/2)

B. (1/2, 3/2)

C. (1/2, 1/2)

D. 

Answer: D

Watch Video Solution

(1/2, ± √2)

4. The circle  cuts the circle  in 

and , Then the equation of the circle on  as diameter is

A. 

B. 

C. 

D. none of these

Answer: A

x2 + y2 = 4 x2 + y2 + 2x + 3y − 5 = 0 A

B AB

13(x2 + y2) − 4x − 6y − 50 = 0

9(x2 + y2) + 8x − 4y + 25 = 0

x2 + y2 − 5x + 2y + 72 = 0

https://dl.doubtnut.com/l/_tfCUoPj4j5k4
https://dl.doubtnut.com/l/_WFWnvbrjppxF


Watch Video Solution

5. One of the limit point of the coaxial system of circles containing

, is

A. (-1, 1)

B. (-1, 2)

C. (-2, 1)

D. (-2, 2)

Answer: A

Watch Video Solution

x2 + y2 − 6x − 6y + 4 = 0, x2 + y2 − 2x − 4y + 3 = 0

6. A circle touches y-axis at (0, 2) and has an intercept of 4 units on the

positive side of x-axis. The equation of the circle, is

A. x2 + y2 − 4(√2x + y) + 4 = 0

https://dl.doubtnut.com/l/_WFWnvbrjppxF
https://dl.doubtnut.com/l/_hDLlVJGUZJDq
https://dl.doubtnut.com/l/_8bu8WhpXHeSI


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 − 4(x + √2y) + 4 = 0

x2 + y2 − 2(√2x + y) + 4 = 0

7. The equation of the circle whose one diameter is PQ, where the

ordinates of P, Q are the roots of the equation  and the

abscissae are the roots of the equation  is

A. 

B. 

C. 

D. none of these

Answer: C

x2 + 2x − 3 = 0

y2 + 4y − 12 = 0

x2 + y2 + 2x + 4y − 15 = 0

x2 + y2 − 4x − 2y − 15 = 0

x2 + y2 + 4x + 2y − 15 = 0

https://dl.doubtnut.com/l/_8bu8WhpXHeSI
https://dl.doubtnut.com/l/_dWQczQkNRf9s


Watch Video Solution

8. The circle  cuts an intercept on y-axis

equal to

A. 1

B. 2

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 + 4x − 7y + 12 = 0

1

2

9. Prove that the equation of any tangent to the circle


 is of the form x2 + y2 − 2x + 4y − 4 = 0

y = m(x − 1) + 3√1 + m2 − 2.

https://dl.doubtnut.com/l/_dWQczQkNRf9s
https://dl.doubtnut.com/l/_Osqja5ik5azx
https://dl.doubtnut.com/l/_tY8C0BhSwZy9


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y = m(x − 1)2 + 3√1 + m2 − 2

y = mx + 3√a + m2

y = mx + 3√1 + m2 − 2

10. The angle between the pair of tangents from the point  to the

circle  is

A. 

B. 

C. 

D. none of these

Answer: B

(1, )
1

2

x2 + y2 + 4x + 2y − 4 = 0

cos − 1.
4
5

sin− 1.
4
5

sin− 1.
3

5

https://dl.doubtnut.com/l/_tY8C0BhSwZy9
https://dl.doubtnut.com/l/_nq56SDucz6mF


Watch Video Solution

11. The intercept on line  by circle  is AB. Find

equation of circle with AB as a diameter.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y = x x2 + y2 − 2x = 0

x2 + y2 + x + y = 0

x2 + y2 = x + y

x2 + y2 − 3x + y = 0

12. If 
 is a tangent to a circle whose center is 
 , then

find the equation of the other tangent to the circle from the
origin.

A. 

3x + y = 0 (2, − 1)

x − 3y = 0

https://dl.doubtnut.com/l/_nq56SDucz6mF
https://dl.doubtnut.com/l/_4ZE7WZLNShK9
https://dl.doubtnut.com/l/_isMyI0K2wzvO


B. 

C. 

D. 

Answer: A

Watch Video Solution

x + 3y = 0

3x − y = 0

2x + y = 0

13. Locus of the middle points of chords of the circle  which

subtend a right angle at the centre is

A. a straight line

B. a circle of radius 2

C. a circle of radius 

D. an ellipse

Answer: C

Watch Video Solution

x2 + y2 = 16

2√3

https://dl.doubtnut.com/l/_isMyI0K2wzvO
https://dl.doubtnut.com/l/_J4D6Yv0jcBbV


14. Two tangents to the circle  at the points  and  meet at

, The area of the quadrilateral , where  is the origin, is

A. 4

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 = 4 A B

P ( − 4, 0) PAOB O

6√2

4√3

15. A tangent is drawn to the circle  and it

touches the circle at point A. If the tangent passes through the point P(2,

1),then PA=

A. 4

2(x2 + y2) − 3x + 4y = 0

https://dl.doubtnut.com/l/_J4D6Yv0jcBbV
https://dl.doubtnut.com/l/_NyIduC3qyVJ1
https://dl.doubtnut.com/l/_zBRW5qj3XZBO


B. 2

C. 

D. none of these

Answer: B

Watch Video Solution

2√2

16. the length of the chord of the circle  passing through (5,

0) and perpendicular to the line , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 25

x + y = 0

5√2

5√2

2√5

https://dl.doubtnut.com/l/_zBRW5qj3XZBO
https://dl.doubtnut.com/l/_GDTbV9brmwNV


17. If the points A(2, 5) and B are symmetrical about the tangent to the

circle  at the origin, then the coordinates of B, are

A. (5, -2)

B. (1, 5)

C. (5, 2)

D. none of these

Answer: C

Watch Video Solution

x2 + y2 − 4x + 4y = 0

18. The equation of the circle of radius  whose centre lies on the line

 and which touches the line , and whose centre is

coordinate satisfy , is

A. 

2√2

x − y = 0 x + y = 4

x + y > 4

x2 + y2 − 8x − 8y + 24 = 0

https://dl.doubtnut.com/l/_GDTbV9brmwNV
https://dl.doubtnut.com/l/_1OzPL3XvWTW2
https://dl.doubtnut.com/l/_2hThY837qekG


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 8

x2 + y2 − 8x + 8y − 24 = 0

19. Prove that the maximum number of points with rational coordinates

on a
circle whose center is 
is two.

A. one

B. two

C. four

D. infinite

Answer: B

Watch Video Solution

(√3, 0)

https://dl.doubtnut.com/l/_2hThY837qekG
https://dl.doubtnut.com/l/_fTCplubAAcss


20. The equation of a circle C is . The

number of real points at which the circle drawn with points (1, 8) and (0,0)

as the ends of a diameter cuts the circle, C, is

A. 0

B. 1

C. 2

D. none of these

Answer: C

Watch Video Solution

x2 + y2 − 6x − 8y − 11 = 0

21. Two circles, each of radius 5, have a common tangent at (1, 1) whose

equation is . Then their centres, are

A. (4, -5), (-2, 3)

3x + 4y − 7 = 0

https://dl.doubtnut.com/l/_fTCplubAAcss
https://dl.doubtnut.com/l/_AfqO3nfmYaK6
https://dl.doubtnut.com/l/_jFK8URwDUd3R


B. (4, -3), (-2, 5)

C. (4, 5), (-2, -3)

D. none of these

Answer: C

Watch Video Solution

22. The number of points on the circle  which are at a

distance 2 from the point (-2, 1), is

A. 2

B. 0

C. 1

D. none of these

Answer: B

Watch Video Solution

2(x2 + y2) = 3x

https://dl.doubtnut.com/l/_jFK8URwDUd3R
https://dl.doubtnut.com/l/_AA5erP70E87g


23. A ray of light incident at the point (-2, -1) gets reflected from the

tangent at (0, -1) to the circle . The reflected ray touches the

circle. The equation of the line along which the incident ray moved is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 1

4x − 3y + 11 = 0

4x + 3y + 11 = 0

3x + 4y + 11 = 0

24. The point on the straight line  which is nearest to the

circle  is

A. (9/2, 2)

y = 2x + 11

16(x2 + y2) + 32x − 8y − 50 = 0

https://dl.doubtnut.com/l/_AA5erP70E87g
https://dl.doubtnut.com/l/_LcrEoRynnDR9
https://dl.doubtnut.com/l/_QFzMQVbGEE0h


B. (-9/2, 2)

C. (9/2, -2)

D. none of these

Answer: B

Watch Video Solution

25. Extremities of a diagonal of a rectangle are (0, 0) and (4, 3). The

equations of the tangents to the circumcircle of the rectangle which are

parallel to the diagonal, are

A. 

B. 

C. 

D. none of these

Answer: B

16x + 8y ± 25 = 0

6x − 8y ± 25 = 0

8 + 6y ± 25 = 0

https://dl.doubtnut.com/l/_QFzMQVbGEE0h
https://dl.doubtnut.com/l/_QUyYLKA5EG4G


Watch Video Solution

26. The equation of the circle which has a tangent  at (3,

5) on it and with the centre on , is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x − y − 1 = 0

x + y = 5

x2 + y2 + 6x − 16y + 28 = 0

x2 + y2 − 6x + 16y − 28 = 0

x2 + y2 + 6x + 6y − 28 = 0

x2 + y2 − 6x − 6y − 28 = 0

27. The angle of intersection of the circles  and 

, is

A. 

x2 + y2 = 4

x2 + y2 + 2x + 2y

π/2

https://dl.doubtnut.com/l/_QUyYLKA5EG4G
https://dl.doubtnut.com/l/_CqrseLP4VcKx
https://dl.doubtnut.com/l/_FSGxsN0ybsr3


B. 

C. 

D. 

Answer: D

Watch Video Solution

π/3

π/6

π/4

28. The normal at the point (3, 4) on a circle cuts the circle at the point

(-1,-2). Then the equation of the circle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2x − 2y − 13 = 0

x2 + y2 − 2x − 2y − 11 = 0

x2 + y2 − 2x + 2y + 12 = 0

x2 + y2 − 2x − 2y + 14 = 0

https://dl.doubtnut.com/l/_FSGxsN0ybsr3
https://dl.doubtnut.com/l/_FbHjjcRH4EL0


29. The inverse point of (1, -1) with respect to , is

A. (-1, 1)

B. (-2, 2)

C. (1, -1)

D. (2, -2)

Answer: D

Watch Video Solution

x2 + y2 = 4

30. A variable circle passes through the fixed point (2, 0) and touches y-

axis then the locus of its centre is

A. a parabola

B. a circle

C. an ellipse

https://dl.doubtnut.com/l/_FbHjjcRH4EL0
https://dl.doubtnut.com/l/_ZhHRNSiMEZ29
https://dl.doubtnut.com/l/_LlXxJlpkNqB1


D. a hyperbola

Watch Video Solution

31. The radius of the circle , is

A. 9

B. 5

C. 3

D. 2

Answer: C

Watch Video Solution

r2 − 2√2r(cos θ + sin θ) − 5 = 0

32. A straight line of length 9 units slides with ends A, B always on x and y

axes respectiv Locus of centroid of AOAB is

https://dl.doubtnut.com/l/_LlXxJlpkNqB1
https://dl.doubtnut.com/l/_KWO1QP2Q46tt
https://dl.doubtnut.com/l/_FB5ojOLqNory


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 3

x2 + y2 = 9

x2 + y2 = 1

x2 + y2 = 81

33. The radius of the larger circle lying in the first quadrant and touching

the line  and the coordinate axes, is

A. 5

B. 6

C. 7

D. 8

Answer: B

4x + 3y − 12 = 0

https://dl.doubtnut.com/l/_FB5ojOLqNory
https://dl.doubtnut.com/l/_pkyxmyrnzMgD


Watch Video Solution

34. A line is at a distance 'c' from origin and meets axes in A and B. The

locus of the centre of the circle passing through O,A,B is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x− 2 + y− 2 = 3

x− 2 + y− 2 = 2c− 2

x− 2 + y− 2 = 3c− 2

x− 2 + y− 2 = 4c− 2

35. The number of circles that touch all the straight lines

 and , is

A. 1

x + y − 4 = 0, x − y + 2 = 0 y = 2

https://dl.doubtnut.com/l/_pkyxmyrnzMgD
https://dl.doubtnut.com/l/_n1ZqZ8NTiNcG
https://dl.doubtnut.com/l/_GXudgTKHE93i


B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

36. Find the number of integral values of 
 for which


 is the equation of a circle whose

radius does not exceed 5.

A. 14

B. 18

C. 16

D. none of these

Answer: C

λ

x2 + y2 + λx + (1 − λ)y + 5 = 0

https://dl.doubtnut.com/l/_GXudgTKHE93i
https://dl.doubtnut.com/l/_SOQSY7acUmWW


Watch Video Solution

37. Show that the four points of intersection of the lines : 

(x-2y+3) = 0`, with the axes lie on a circle and find its centre.

A. (7/5, 5/2)

B. (7/4, 5/4)

C. (-7/4, 5/4)

D. (7/4, -5/4)

Answer: C

Watch Video Solution

(2x − y + 1)

38. If  and  cuts the axes in concyclic

points, then the centre of the circle, is

A. (2, 3)

2x + 3y − 6 = 0 9x + 6y − 18 = 0

https://dl.doubtnut.com/l/_SOQSY7acUmWW
https://dl.doubtnut.com/l/_izyss0jSdhS0
https://dl.doubtnut.com/l/_zbH81B6lqDov


B. (3, 2)

C. (5, 5)

D. (5/2, 5/2)

Answer: D

Watch Video Solution

39. The line  intersects the curve 

 at the point P and Q. The circle on PQ as diameter

passes through the origin. Then  equals (A)  (B)  (C)

 (D) 

A. 

B. 

C. 

D. 

lx + my + n = 0

ax2 + 2hxy + by2 = 1

n2(a + b) l2 + m2 2lm

l2 − m2 4lm

n2(a + b)

n2(a + b)2

n2(a2 − b2)

n2(a2 + b2)

https://dl.doubtnut.com/l/_zbH81B6lqDov
https://dl.doubtnut.com/l/_sSnBmmsQ28Z4


Answer: A

Watch Video Solution

40. Two circles, each of radius 5, have a common tangent at (1, 1) whose

equation is . Then their centres, are

A. (4,-5), (-2, 3)

B. (4, -3), (-2, 5)

C. (4, 5), (-2, -3)

D. none of these

Answer: C

Watch Video Solution

3x + 4y − 7 = 0

41. PQ is a chord of the circle  whose mid-point is

(2, 2). The circle passing through P, Q and (1, 2) is

x2 + y2 − 2x − 8 = 0

https://dl.doubtnut.com/l/_sSnBmmsQ28Z4
https://dl.doubtnut.com/l/_AR2I4YcUvX6F
https://dl.doubtnut.com/l/_LIvO9ocYNL9Q


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 7x + 10y + 28 = 0

x2 + y2 − 7x − 10y + 22 = 0

x2 + y2 − 7x + 10y + 22 = 0

x2 + y2 + 7x + 10y − 22 = 0

42. The number of circles belonging to the system of circles

 and orthogonal to 

, is

A. 2

B. 1

C. 0

D. none of these

2(x2 + y2) + λx − (1 + λ2)y − 10 = 0

x2 + y2 + 4x + 6y + 3 = 0

https://dl.doubtnut.com/l/_LIvO9ocYNL9Q
https://dl.doubtnut.com/l/_8TlVNrXWrSZH


Answer: A

Watch Video Solution

43. The equation of the circle passing through (0, 0) and belonging to the

system of circles of which (3, 1) and (-1, 5) are limiting points, is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 − x + 3y = 0

x2 + y2 − 11x + 3y = 0

x2 + y2 = 1

44. If  is a centre of similitude for the circles 

and , then the length of common tangent of

( − , − 1)
1

3
x2 + y2 = 1

x2 + y2 − 2x − 6y − 6 = 0

https://dl.doubtnut.com/l/_8TlVNrXWrSZH
https://dl.doubtnut.com/l/_74PjDyjdQwgl
https://dl.doubtnut.com/l/_TieotC5QmPEh


the circles is

A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

45. If  is a centre of similitude for the circles 

 and , then the

length of the common tangent through P to the circles, is

A. 4

B. 3

C. 2

P (1, 1/2)

x2 + y2 + 4x + 2y − 4 = 0 x2 + y2 − 4x − 2y + 4 = 0

https://dl.doubtnut.com/l/_TieotC5QmPEh
https://dl.doubtnut.com/l/_Nn9wVBNeTlKT


D. 1

Answer: C

Watch Video Solution

46. Statement 1 : The equation 
 represents,

for different values of 
 a system of circles passing through two fixed

points lying on the
x-axis.
Statement 2 : 
 is a circle and 
 is a

straight line. Then 
 represents the family of circles passing

through the points of
 intersection of the circle and the straight line

(where 
is an arbitrary parameter).

A. 

B. 

C. 

D. 

Answer: B

x2 + y2 − 2x − 2ay − 8 = 0

a,

S = 0 L = 0

S + λL = 0

λ

x2 + y2 − 2y = 0

x2 + y2 − 2x − 8 = 0

x2 + y2 − 2y = 8

x2 + y2 − 2x − 2y = 8

https://dl.doubtnut.com/l/_Nn9wVBNeTlKT
https://dl.doubtnut.com/l/_xYis7N8I3ph8


Watch Video Solution

47. x=1 is the radical axis of the two orthogonally intersecting circles. If

 is one of the circles, then the other circle, is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 4

x2 + y2 − 4x + 4 = 0

x2 + y2 − 8x + 4 = 0

x2 + y2 + 8x − 4 = 0

48. If the  of the circle  subtends an angle of

measure  of the major segment of the circle then value of  is -

A. 2

y = mx + 1, x2 + y2 = 1

45∘ m

https://dl.doubtnut.com/l/_xYis7N8I3ph8
https://dl.doubtnut.com/l/_LSBjfFVz5jue
https://dl.doubtnut.com/l/_0IseO56j0Up8


B. -2

C. 1

D. none of these

Answer: C

Watch Video Solution

49. The circles  and 

A. cut orthogonally

B. touch each other internally

C. intersect in two points

D. touch each other externally

Answer: D

Watch Video Solution

x2 + y2 + 6x + 6y = 0 x2 + y2 − 12x − 12y = 0

https://dl.doubtnut.com/l/_0IseO56j0Up8
https://dl.doubtnut.com/l/_v2rUgNcBYu7f
https://dl.doubtnut.com/l/_md1B61LKrtRa


50. The equation of the pair of straight lines parallel to x-axis and

touching the circle  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2– 6x– 4y − 12 = 0,

y2 − 4y − 21 = 0

y2 + 4y − 21 = 0

y2 − 4y + 21 = 0

y2 + 4y + 21 = 0

51. The equation of the circumcircle of the triangle formed by the lines

x=0, y=0, 2x+3y=5, is

A. 

B. 

C. 

6(x2 + y2) + 5(3x − 2y) = 0

x2 + y2 + 2x − 3y + 5 = 0

x2 + y2 + 2x − 3y − 5 = 0

https://dl.doubtnut.com/l/_md1B61LKrtRa
https://dl.doubtnut.com/l/_9wDAOolS43FT


D. 

Answer: D

Watch Video Solution

6(x2 + y2) − 5(3x + 2y) = 0

52. The value of  for which the circle 

intersects the circle  orthogonally, is

A. 

B. -1

C. 

D. 

Answer: C

Watch Video Solution

λ x2 + y2 + 2λx + 6y + 1 = 0

x2 + y2 + 4x + 2y = 0

11

8

−5

4

5

2

https://dl.doubtnut.com/l/_9wDAOolS43FT
https://dl.doubtnut.com/l/_nKYAMPDuDDkA


53. The equation of the circle concentric to the circle

 and having double the area of this circle,

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x2 + 2y2 − 3x + 6y + 2 = 0

8x2 + 8y2 − 24x + 48y − 13 = 0

16x2 + 16y2 + 24x − 48y − 13 = 0

16x2 + 16y2 − 24x + 48y − 13 = 0

8x2 + 8y2 + 24x − 48y − 13 = 0

54. If the angle of intersection of the circle 
 and 


is 
, then the equation of the line passing through

(1, 2) and making an
angle 
with the y-axis is

A. 

x2 + y2 + x + y = 0

x2 + y2 + x − y = 0 θ

θ

x = 1

https://dl.doubtnut.com/l/_EUCjZBNzKGII
https://dl.doubtnut.com/l/_QYHAn4VO6zsq


B. 

C. 

D. 

Answer: B

Watch Video Solution

y = 2

x + y = 3

x − y = 3

55. The equation of the image of the circle  in the

mirror x+y=19, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(x − 3)2 + (y − 2) = 1

(x + 14)2 + (y − 13)2 = 1

(x − 15)2 + (y − 14)2 = 1

(x − 16)2 + (y − 15)2 = 1

(x − 17)2 + (y − 162) = 1

https://dl.doubtnut.com/l/_QYHAn4VO6zsq
https://dl.doubtnut.com/l/_XSuDQlktFHBe


https://dl.doubtnut.com/l/_XSuDQlktFHBe

